Standards-based Assessment Bank
3rd Grade Non-Fiction


Index to Questions
	Ques Nbr
	Source
	BM
	GLI
	Passage Title
	Type
	Description

	6
	Reading Achievement Oct 03
	C
	IT 3.3
	Where Do Snowflakes Begin?
	Science
	This multiple-choice question asks students to identify the central idea of the selection.

	7
	Reading Achievement Oct 03
	C
	RP 3.5
	Where Do Snowflakes Begin?
	Science
	This multiple-choice question asks students make of use information in the text to draw a logical conclusion.

	8
	Reading Achievement Oct 03
	C
	IT 3.3
	Where Do Snowflakes Begin?
	Science
	This short-answer question asks the students to identify two supporting details that show the difference between cumulus and cirrus clouds.

	9
	Reading Achievement Oct 03
	A
	IT 3.1
	Where Do Snowflakes Begin?
	Science
	This multiple-choice question asks students to identify text features in a reading selection.

	10
	Reading Achievement Oct 03
	IT-C
RP-A
	IT 3.3,             RP 3.6
	Where Do Snowflakes Begin?
	Science
	This short-answer question asks students to use a graphic organizer to demonstrate comprehension of the selection.

	11
	Reading Achievement Oct 03
	B
	IT 3.2
	Where Do Snowflakes Begin?
	Science
	This multiple-choice question asks students to identify a question that can be answered from all or part of a text.

	12
	Reading Achievement Oct 03
	A
	AV 3.1
	Where Do Snowflakes Begin?
	Science
	This multiple-choice question asks students to use the context, or information around an unfamiliar word, to determine its meaning and expand vocabulary.

	22
	Reading Achievement Oct 03
	E
	RP 3.7
	Seahorses
	Science
	This multiple-choice question asks students to answer a literal question.

	23
	Reading Achievement Oct 03
	A
	AV 3.1
	Seahorses
	Science
	This multiple-choice question asks students to determine the meaning of a word based on the context clues that surround it.

	24
	Reading Achievement Oct 03
	C
	IT 3.3
	Seahorses
	Science
	This multiple-choice question asks students to determine which of the listed details provides support for one of the major ideas in the selection.

	25
	Reading Achievement Oct 03
	A
	IT 3.1
	Seahorses
	Science
	This multiple-choice question asks students to use a text feature (chapter, section titles, word banks, footnotes etc.) to locate information.


	Ques Nbr
	Source
	BM
	GLI
	Passage Title
	Type
	Description

	26
	Reading Achievement Oct 03
	E
	RP 3.7
	Seahorses
	Science
	This short-answer question asks students to identify details from the selection that support the concept that seahorses are unusual.

	27
	Reading Achievement Oct 03
	C
	IT 3.3
	Seahorses
	Science
	This multiple-choice question asks students to read sentences from the selection, make note of the details it includes, and use them to find the central idea, which is written in the format of a heading or title.

	28
	Reading Achievement Oct 03
	IT-C
RP-A
	IT 3.3,             RP 3.6
	Seahorses
	Science
	This extended-response question asks students to use a visual aid to identify information from the selection.

	29
	Reading Achievement Oct 03
	E
	RP 3.7
	Seahorses
	Science
	This multiple-choice question asks students to find information that is stated directly in the text.

	30
	Reading Achievement Oct 03
	B
	IT 3.2
	Seahorses
	Science
	This multiple-choice question asks students to read a given portion of text and select a question that could be answered within that specific section.

	7
	Reading Achievement Mar 04
	C
	IT 3.3
	Wilma Rudolph, Olympic Champ
	Biography
	This multiple-choice question asks students to identify the central idea of the selection.

	8
	Reading Achievement Mar 04
	D
	RP 3.4
	Wilma Rudolph, Olympic Champ
	Biography
	This short-answer question asks students to summarize the events in Wilma’s life by ordering the series of events listed here.

	9
	Reading Achievement Mar 04
	E
	RP 3.7
	Wilma Rudolph, Olympic Champ
	Biography
	This multiple-choice question asks students to display comprehension of the selection by answering a literal, inferential or evaluative question.

	10
	Reading Achievement Mar 04
	C
	IT 3.3
	Wilma Rudolph, Olympic Champ
	Biography
	This short-answer question requires students to support a central idea with details that come from the selection.

	11
	Reading Achievement Mar 04
	C
	IT 3.3
	Wilma Rudolph, Olympic Champ
	Biography
	This multiple-choice question requires students to summarize a paragraph from the selection and to conceptualize what title would most be appropriate.

	12
	Reading Achievement Mar 04
	E
	RP 3.7
	Wilma Rudolph, Olympic Champ
	Biography
	This multiple-choice question asks students to show comprehension of the selection by answering a literal, inferential or evaluative question.

	13
	Reading Achievement Mar 04
	A
	AV 3.1
	Wilma Rudolph, Olympic Champ
	Biography
	This multiple-choice question requires students to use contextual clues to determine the meaning of a word. 



	Ques Nbr
	Source
	BM
	GLI
	Passage Title
	Type
	Description

	23
	Reading AchievementMar 04
	E
	RP 3.7
	Stargazers
	Science
	This multiple-choice question asks students to draw a conclusion from a phrase within the text.

	24
	Reading Achievement Mar 04
	RP-A

IT-C
	RP 3.6,           IT 3.3
	Stargazers
	Science
	This multiple-choice item asks students to use a graphic organizer to sort and store information from the selection.   

	25
	Reading Achievement Mar 04
	E
	RP 3.7
	Stargazers
	Science
	This multiple-choice question asks students to respond to a literal question.

	26
	Reading Achievement Mar 04
	IT-C
RP-A
	IT 3.3,                     RP 3.6
	Stargazers
	Science
	This extended-response question asks students to find specific information and give support for why that was their selection. 

	27
	Reading Achievement Mar 04
	C
	IT 3.3
	Stargazers
	Science
	This multiple-choice question asks students to identify major points as they are expressed in a nonfiction article or text and find details that support each.

	28
	Reading Achievement Mar 04
	A
	IT 3.1
	Stargazers
	Science
	This multiple-choice question asks students to determine how to use specific resources and tools from the selection as a comprehension strategy.

	29
	Reading Achievement Mar 04
	B
	IT 3.2
	Stargazers
	Science
	This multiple-choice question asks students to identify a question that can be answered by the paragraph selected.

	30
	Reading Achievement Mar 04
	E
	RP 3.7
	Stargazers
	Science
	This short-answer question asks students to reply literally to a question and place the answers in the correct location of a graphic organizer.

	31
	Reading Achievement Mar 04
	A
	AV 3.1
	Stargazers
	Science
	This multiple-choice question asks students to use the context of the sentence or selection to assist with unknown words.

	12
	Reading Achievement Oct 04
	A
	RP 3.1
	Rabbits, Rabbits and More Rabbits
	Science
	This multiple-choice question asks students to determine the reason the author wrote this passage and/or the purpose for which someone would read it.

	13
	Reading Achievement Oct 04
	E
	RP 3.7
	Rabbits, Rabbits and More Rabbits
	Science
	This multiple-choice question asks students to determine the answer to a question based on information they found in the reading selection.

	14
	Reading Achievement Oct 04
	C
	RP 3.4
	Rabbits, Rabbits and More Rabbits
	Science
	This short-answer question asks students to complete a timeline of the early stages of rabbits’ growth and development by using information from the selection.

	Ques Nbr
	Source
	BM
	GLI
	Passage Title
	Type
	Description

	15
	Reading Achievement Oct 04
	E
	RP 3.7
	Rabbits, Rabbits and More Rabbits
	Science
	This multiple-choice question asks students to answer a literal question, one that can be found stated in the selection without the need to evaluate or infer.

	16
	Reading Achievement Oct 04
	B
	IT 3.2
	Rabbits, Rabbits and More Rabbits
	Science
	This multiple-choice question asks students to read an excerpt from the selection and decide which question could be asked about it.

	17
	Reading Achievement Oct 04
	E
	RP 3.7
	Rabbits, Rabbits and More Rabbits
	Science
	This multiple-choice question asks students to draw a conclusion based on information they have read in the selection.

	18
	Reading Achievement Oct 04
	C
	IT 3.3
	Rabbits, Rabbits and More Rabbits
	Science
	This extended-response question asks students to find supporting details for the central idea: rabbits depend on their senses.

	19
	Reading Achievement Oct 04
	C
	IT 3.3
	Rabbits, Rabbits and More Rabbits
	Science
	This multiple-choice question asks students to identify the central, or main, idea of an excerpt from the selection.

	20
	Reading Achievement Oct 04
	A
	AV 3.1
	Rabbits, Rabbits and More Rabbits
	Science
	This multiple-choice question asks students to determine a word meaning based on the context of (or information around) that word.

	30
	Reading Achievement Oct 04
	E
	RP 3.7
	Smell
	Science
	This multiple-choice question asks students to read the selection and determine which answer choice is an accurate statement based on what they have read.

	31
	Reading Achievement Oct 04
	A
	AV 3.1
	Smell
	Science
	This multiple-choice question asks students to use the context of a sentence to determine the meaning of a word. Once they have determined the meaning, they are to select the answer choice that has the opposite meaning.

	32
	Reading Achievement Oct 04
	E
	IT 3.5
	Smell
	Science
	This short-answer question requires students to understand the sequence of certain events or processes found in the selection.

	33
	Reading Achievement Oct 04
	C
	IT 3.3
	Smell
	Science
	This multiple-choice question asks students to recall information about one of the central ideas of this selection, how smell impacts taste.

	34
	Reading Achievement Oct 04
	E
	RP 3.7
	Smell
	Science
	This multiple-choice question asks students to answer a literal question based on information they have read.

	35
	Reading Achievement Oct 04
	B
	IT 3.2
	Smell
	Science
	This multiple-choice question asks students to identify one question from the choices listed that can be answered by the sentences from the selection.

	Ques Nbr
	Source
	BM
	GLI
	Passage Title
	Type
	Description

	36
	Reading Achievement Oct 04
	E
	RP 3.7
	Smell
	Science
	This short-answer question asks students to answer a literal question about the selection.

	27
	Reading Achievement Mar 05
	B
	IT 3.2
	Monkey Business
	Science
	This multiple-choice question asks students to identify one question from the choices listed that can be answered by the sentences from the selection.

	28
	Reading Achievement Mar 05
	E
	RP 3.7
	Monkey Business
	Science
	This short-answer question asks students to provide literal information from the selection.

	29
	Reading Achievement Mar 05
	A
	RP 3.6
	Monkey Business
	Science
	This multiple-choice question asks the students to use a graphic organizer or web as a comprehension tool.

	30
	Reading Achievement Mar 05
	E
	RP 3.7
	Monkey Business
	Science
	This multiple-choice question asks students to answer a literal question about information in the selection.

	31
	Reading Achievement Mar 05
	A
	IT 3.1
	Monkey Business
	Science
	This short-answer question asks students to use a section heading to find information.

	32
	Reading Achievement Mar 05
	B
	IT 3.2
	Monkey Business
	Science
	This multiple-choice question asks students to determine central/main ideas and state details that support that information.

	33
	Reading Achievement Mar 05
	D
	AV 3.3
	Monkey Business
	Science
	This multiple-choice question asks students to use the context of the sentence to determine a word meaning.

	34
	Reading Achievement Mar 05
	C
	RP 3.5
	Thomas Edison
	Biography
	This multiple-choice question asks students to draw a conclusion based on information presented in the text.

	35
	Reading Achievement Mar 05
	E
	RP 3.7
	Thomas Edison
	Biography
	This multiple-choice question asks students to find the answer to a literal question within a previously read text.

	36
	Reading Achievement Mar 05
	E
	RP 3.7
	Thomas Edison
	Biography
	This short-answer question asks students to answer a literal question using their knowledge of the selection.

	37
	Reading Achievement Mar 05
	B
	IT 3.2
	Thomas Edison
	Biography
	This multiple-choice item asks students to read an excerpt from the selection, understand the content and determine which question can be answered by the information.



	Ques Nbr
	Source
	BM
	GLI
	Passage Title
	Type
	Description

	38
	Reading Achievement Mar 05
	E
	RP 3.7
	Thomas Edison
	Biography
	This multiple-choice question asks students to use information from the selection to answer a literal question.

	39
	Reading Achievement Mar 05
	A
	AV 3.1
	Thomas Edison
	Biography
	This multiple-choice question asks students to use a text feature, in this case a word bank, to determine the meaning of a word.

	40
	Reading Achievement Mar 05
	IT-C
RP-A
	IT 3.3 RP 3.6
	Thomas Edison
	Biography
	This extended-response question asks students to take a central idea and find specific details from the selection about that idea. 

	41
	Reading Achievement Mar 05
	A
	AV 3.1
	Thomas Edison
	Biography
	This multiple-choice question asks students to use context clues to determine the meaning of the word patent.

	42
	Reading Achievement Mar 05
	C
	IT 3.3
	Thomas Edison
	Biography
	This multiple-choice question asks students to read all of the details in the sentences presented and use them to determine a good section heading.

	30
	Reading Achievement Oct 05
	E
	RP 3.7
	Earthworms
	Science
	This multiple-choice question asks students to answer a literal question.

	31
	Reading Achievement Oct 05
	C
	IT 3.3
	Earthworms
	Science
	This short-answer question asks students to identify central ideas that are located in the reading selection.

	32
	Reading Achievement Oct 05
	A
	AV 3.1
	Earthworms
	Science
	This multiple-choice question asks students to use the context of the sentence to help define a word in that sentence.

	33
	Reading Achievement Oct 05
	E
	RP 3.7
	Earthworms
	Science
	This multiple-choice question asks students to answer a literal question.

	34
	Reading Achievement Oct 05
	B
	IT 3.2
	Earthworms
	Science
	This multiple-choice question asks the students to read a paragraph from the selection and determine which of the clarifying questions is answered in that paragraph.

	35
	Reading Achievement Oct 05
	B
	IT 3.2
	Earthworms
	Science
	This multiple-choice question asks students to read the given paragraph and select the clarifying question that is answered in that paragraph.

	36
	Reading Achievement Oct 05
	E
	RP 3.7
	Earthworms
	Science

	This short-answer question asks students to use summary information to complete the chart.

	Ques Nbr
	Source
	BM
	GLI
	Passage Title
	Type
	Description

	7
	Reading Achievement Mar 06
	C
	IT 3.3
	Skunks
	Science
	This multiple-choice question asks students to identify one of the central or main ideas of the reading selection.

	8
	Reading Achievement Mar 06
	C
	AV 3.7
	Skunks
	Science
	This multiple-choice item asks students to determine how knowing a word part or prefix helps define that word.

	9
	Reading Achievement Mar 06
	C
	IT 3.3
	Skunks
	Science
	This extended-response question asks students to identify a central idea and then list four supporting details.

	10
	Reading Achievement Mar 06
	E
	RP 3.7
	Skunks
	Science
	This multiple-choice item asks students to answer a literal question based on information in the text.



	11
	Reading Achievement Mar 06
	E
	RP 3.7
	Skunks
	Science
	This multiple-choice question asks students to answer a literal question.

	12
	Reading Achievement Mar 06
	E
	RP 3.7
	Skunks
	Science
	This multiple-choice question asks students to answer a question using information directly stated in the text.

	13
	Reading Achievement Mar 06
	E
	RP 3.7
	Skunks
	Science
	This short-answer question asks students to read the selection and draw a conclusion based on the information.

	14
	Reading Achievement Mar 06
	A
	IT 3.1
	Skunks
	Science
	This multiple-choice question asks students to draw a conclusion based on information in the selection.

	15
	Reading Achievement Mar 06
	C
	IT 3.3
	Skunks
	Science
	This multiple-choice question asks students to select a question that clarifies information from the selection.

	7
	Reading Achievement Oct 06
	E
	RP 3.7
	Wild Baby Animals
	Science
	This multiple-choice question asks students to answer a literal question about a newborn elephant.

	8
	Reading Achievement Oct 06
	E
	RP 3.7
	Wild Baby Animals
	Science
	This multiple-choice question asks students to make an inference, or draw a conclusion, based on information in a selection.

	9
	Reading Achievement Oct 06
	B
	IT 3.2
	Wild Baby Animals
	Science
	This multiple-choice question asks students to select the correct question about the text in a specific reading selection.


	Ques Nbr
	Source
	BM
	GLI
	Passage Title
	Type
	Description

	10
	Reading Achievement Oct 06
	E
	RP 3.7
	Wild Baby Animals
	Science
	This short-answer question asks students to answer a literal question to show that they understand facts from the reading selection about camels.

	11
	Reading Achievement Oct 06
	A
	IT 3.1
	Wild Baby Animals
	Science
	This multiple-choice question asks students to use subheadings to find information.

	12
	Reading Achievement Oct 06
	C
	IT 3.3
	Wild Baby Animals
	Science
	This extended-response question asks students to determine what detail supports a main idea from the selection.

	13
	Reading Achievement Oct 06
	C
	IT 3.3
	Wild Baby Animals
	Science
	This multiple-choice question asks students to determine what details support a main idea from the selection.

	14
	Reading Achievement Oct 06
	D
	AV 3.3
	Wild Baby Animals
	Science
	This multiple-choice question asks students to choose the right word that is the opposite for shallow.   

	15
	Reading Achievement Oct 06
	C
	IT 3.3
	Wild Baby Animals
	Science
	This multiple-choice question asks students to determine the central or main idea of a reading selection.

	37
	Reading Achievement Oct 06
	C
	IT 3.3
	Ships of the Desert
	Science
	This multiple-choice question asks students to figure out how the title of a reading selection is connected to the main ideas of the story.

	38
	Reading Achievement Oct 06
	C
	IT 3.3
	Ships of the Desert
	Science
	This multiple-choice question asks students to determine the main or central idea of a reading selection.

	39
	Reading Achievement Oct 06
	E
	RP 3.7
	Ships of the Desert
	Science
	This multiple-choice question asks students to demonstrate their comprehension of the selection by answering an inferential question.

	40
	Reading Achievement Oct 06
	A
	AV 3.2
AV 3.1
	Ships of the Desert
	Science
	This multiple-choice question asks students to use context clues to understand the meaning of the word stores.

	41
	Reading Achievement Oct 06
	E
	RP 3.7
	Ships of the Desert
	Science
	This extended-response question asks students to make a comparison between two of the animals mentioned in the selection and camels.

	42
	Reading Achievement Oct 06
	E
	RP 3.7
	Ships of the Desert
	Science
	This multiple-choice question asks students to answer a question that has an answer directly stated in the text.


	Ques Nbr
	Source
	BM
	GLI
	Passage Title
	Type
	Description

	22
	Reading Achievement Oct 07
	C
	IT 3.3
	Gerbils!
	Science
	Multiple-choice

	23
	Reading Achievement Oct 07
	C
	IT 3.3
	Gerbils!
	Science
	Multiple-choice

	24
	Reading Achievement Oct 07
	A
	AV 3.1,         AV 3.9
	Gerbils!
	Science
	Multiple-choice

	25
	Reading Achievement Oct 07
	IT-C
RP-E
	IT 3.3,                  RP 3.7
	Gerbils!
	Science
	Extended-Response (4 pt)

	26
	Reading Achievement Oct 07
	B
	IT 3.2
	Gerbils!
	Science
	Multiple-choice

	27
	Reading Achievement Oct 07
	A
C
	AV 3.1,          AV 3.7
	Gerbils!
	Science
	Multiple-choice

	28
	Reading Achievement Oct 07
	D
E
	RP 3.4,               RP 3.7
	Gerbils!
	Science
	Multiple-choice

	29
	Reading Achievement Oct 07
	E
	RP 3.7
	Gerbils!
	Science
	Short-answer (2 pt)

	30
	Reading Achievement Oct 07
	C
	RP 3.5
	Gerbils!
	Science
	Multiple-choice

	31
	Reading Achievement Oct 07
	C
	IT 3.3
	Gerbils!
	Science
	Multiple-choice

	37
	Reading Achievement May 08
	B
	IT 3.2
	The Smallest Life Around Us
	Science
	This multiple-choice question asks students to use details from the paragraph to answer the question.

	38
	Reading Achievement May 08
	A
	AV 3.1
	The Smallest Life Around Us
	Science
	This multiple-choice question asks students to define word meaning from the selection.


	Ques Nbr
	Source
	BM
	GLI
	Passage Title
	Type
	Description

	39
	Reading Achievement May 08
	A

E
	RP 3.6,          RP 3.7
	The Smallest Life Around Us
	Science
	This multiple-choice question asks students to use the graphic organizers, such as Venn diagrams and webs, to interpret and comprehend textual information.

	40
	Reading Achievement May 08
	E
	RP 3.7
	The Smallest Life Around Us
	Science
	This multiple-choice question asks students to apply their comprehension knowledge of the selection through literal questioning.

	41
	Reading Achievement May 08
	A

C
	RP 3.4,    RP 3.6
	The Smallest Life Around Us
	Science
	This extended-response question asks students to summarize texts, sequencing information accurately and including main ideas and details as appropriate.

	42
	Reading Achievement May 08
	A
	IT 3.1
	The Smallest Life Around Us
	Science
	This multiple-choice question asks students to read the selection sentence and draw meaning from the selection to choose the correct answer.


BACK TO INDEX
Passage:

Where Do Snowflakes Begin?
Snowflakes begin inside the clouds. The snowflake crystals form within storm clouds high above the earth. There are many different cloud layers in the upper air. You can see them floating freely, changing shape.

The air around our planet is always moving. The higher the air is from the earth, the colder it is. The higher the clouds are, the colder they are.

The highest, coldest cloud layers are often called ice clouds. Their real name is cirrus clouds. You can recognize cirrus clouds because they look like feathers, or scratches on a piece of glass, or frost on a window.

Another kind of cloud looks like a fat puff of cotton. These clouds are called cumulus clouds. Cumulus clouds are often dark, because they pick up dust from the air. Sometimes when you see cumulus clouds in the sky, it means there is going to be a storm.

Snowflakes can form in any cloud that is colder than freezing. Many snowflakes begin in cirrus clouds. But these flakes rarely make it to the ground. They fall a little way, and when they meet warmer air, they become water droplets and never touch the earth.

But when a snowflake forms in the lower cumulus clouds, and when the cloud and the air on the earth are cold enough, the flake will stay in the form of snow and fall to the ground. The gravity of the earth pulls the snowflake down, spinning and changing shape along the way.

“Where Do Snowflakes Begin?” by Joan Sugarman. Reprinted by permission of the author.

BACK TO INDEX
	Benchmark:     C
	Identify the central ideas and supporting details of informational text.

	GLI:                          IT 3.3
	Identify and list the important central ideas and supporting details of informational text. 


Multiple Choice Question:

6. Temperature is an important part in forming snowflakes. What detail supports this


dea?

A. Snowflakes change shape as they fall.

B. Snowflakes form in clouds that are cooler than freezing.

C. Snowflakes form in cumulus clouds and become rain.

Commentary:
This multiple-choice question asks students to identify the central idea of the selection. Answer choice A is incorrect because the change in the shape of the snowflakes occurs as a result of the gravity that pulls them to the ground. Answer choice B is correct because it addresses the concept of temperature (cooler than freezing). The detail “when the cloud and the earth are cold enough” found in the final paragraph supports the correct answer. Answer choice C is incorrect because temperature is critical to the formation of snowflakes. If the temperature is not cool enough snowflakes do not form. Water droplets may form, but these never touch the earth.

Performance Data:
The percent of public school students selecting answer choice B for question 6 on the October 2003 Grade 3 Reading Achievement Test was 59%.

Keywords:  Central Idea, Supporting Details

BACK TO INDEX
	Benchmark:     C
	Draw conclusions from information in text.

	GLI:                      RP 3.5
	Make inferences regarding events and possible outcomes from information in text.


Multiple Choice Question:

7.   What would happen if there were no gravity?

A. The air would not be cold enough to form snowflakes.

B. We would not see snow because it would not fall to earth.

C. The clouds would not be able to form snowflakes.

Commentary:
This multiple-choice question asks students to read information and draw a logical conclusion. Answer choice A is incorrect because there is no connection between gravity and temperature. Answer choice B is correct because gravity of the earth pulls the snowflake down, without the gravity there would be nothing to move snowflakes from a higher place to a lower one. Answer choice C is incorrect because temperature impacts the formation of snowflakes within clouds, not a lack of gravity.

Performance Data:
The percent of public school students selecting answer choice B for question 7 on the October 2003 Grade 3 Reading Achievement Test was 52 %.

Keywords:  Drawing Conclusions

BACK TO INDEX
	Benchmark:     C
	Identify the central ideas and supporting details of informational text.

	GLI:                          IT 3.3
	Identify and list the important central ideas and supporting details of informational text. 


Short Answer Question:

8.   Use the reading selection to list two things that make cirrus clouds different from cumulus clouds.

[image: image19.emf]
A.  


B.   

Commentary:
This short answer question asks the students to identify two supporting details that show the difference between cumulus and cirrus clouds.

Performance Data:
The percent of public school students earning each score point for question 10 on the March 2004 Grade 3 Reading Achievement Test:  

	Performance at Each Score Point

	0
	1
	2

	31%
	22%
	45%


Scoring Guidelines
	Points
	Student Response

	2
	Response correctly completes both blanks.

Example: Cirrus clouds look like feathers; Cirrus clouds are the

                 highest layer of clouds

	1
	Response correctly completes one blank.

Example: Cirrus clouds look like feathers.

	0
	Response is incorrect or irrelevant


Keywords:  supporting details
BACK TO INDEX
	Benchmark:     A
	Use text features and structures to organize content, draw conclusions and                        build text knowledge.

	GLI:                        IT 3.1
	Use the table of contents, chapter headings, glossary, index, captions and illustrations to locate information and comprehend texts.


Multiple Choice Question:

9. This paragraph is from the selection.


“The highest, coldest cloud layers are often called ice clouds. Their real name is cirrus clouds. You can recognize cirrus clouds because they look like feathers, or scratches on a piece of glass, or frost on a window.”

What topic heading should be used for this part of the selection?

A. Cumulus Clouds

B. Cirrus Clouds

C. Snowflakes
Commentary:
This multiple-choice question asks students to identify text features in a reading selection. Answer choice A is incorrect because it addresses cumulus clouds, not the subject of the paragraph. Answer choice B is correct because cirrus clouds are the subject of the paragraph. Answer choice C is incorrect because clouds are the focus of this paragraph, not snowflakes.

Performance Data:
The percent of public school students selecting answer choice B for question 9 on the October 2003 Grade 3 Reading Achievement Test was 67 %.
Keywords:  Text features

BACK TO INDEX
	Benchmark:     RP-A

IT-C
	Establish a purpose for reading and use a range of reading comprehension strategies to understand literary passages and text.
Identify the central ideas and supporting details of informational text.



	GLI:                                  IT 3.3,                                 RP 3.6
	IT 3.3:     Identify and list the important central ideas and supporting details of informational text.
RP 3.6:   Create and use graphic organizers, such as Venn diagrams and webs, to demonstrate comprehension.


Short Answer Question:
10. Use details from the reading selection to complete the web below.


Commentary:
This short answer question asks students to use a graphic organizer to demonstrate comprehension of the selection.  

Performance Data:
The percent of public school students earning each score point for question 10 on the October 2003 Grade 3 Reading Achievement Test:  
	Performance at Each Score Point

	0
	1
	2

	32%
	39%
	26%


Scoring Guidelines

	Points
	Student Response

	2
	Response correctly completes both blanks.

Example: form in clouds; pulled to earth by gravity

	1
	Response correctly completes one blank.

Example: form in clouds

	0
	Response is incorrect or irrelevant


Keywords:  Purpose for Reading
BACK TO INDEX
	Benchmark:     B
	Ask clarifying questions concerning essential elements of informational                      text.

	GLI:                                          IT 3.2
	List questions about essential elements (e.g., why, who, where, what, when and how) from informational text and identify answers. 


Multiple Choice Question:

11.    This paragraph is from the selection.


     “But when a snowflake forms in the lower cumulus clouds, and when the cloud and the air on the earth are cold enough, the flake will stay in the form of snow and fall to the ground. The gravity of the earth pulls the snowflake down, spinning and changing shape along the way.”

Which question is answered in this paragraph?

A. How does a snowflake fall to the ground?

B. How cold does the ground need to be?

C. How long will snow stay on the ground?

Commentary:

This multiple-choice question asks students to identify a question that can be answered from all or part of a text. Answer choice A is correct because the correct answer to the question being asked can be found in two places in the selected paragraph. Answer choice B is incorrect because information is given relative to the necessary air temperature for snow formation. There is no indication that this transfers to ground temperature as well. Answer choice C is incorrect because it is asking for information that is not included in the paragraph provided.

Performance Data:
The percent of public school students selecting answer choice A for question 11 on the October 2003 Grade 3 Reading Achievement Test was 68 %.

Keywords:  Clarifying Questions

BACK TO INDEX
	Benchmark:     A
	Use context clues to determine the meaning of new vocabulary.

	GLI:                  AV 3.1
	Determine the meaning of unknown words using a variety of context clues, including word, sentence and paragraph clues.


Multiple Choice Question:
12. This sentence is from the selection.

 “But these flakes rarely make it to the ground.”

 What choice means the same as rarely?

A. hardly ever

B. often

C. sometimes

Commentary:
This multiple choice question asks students to use the context, or information around an unfamiliar word, to determine its meaning and expand vocabulary. Answer choice A is correct because the context shows these snowflakes may form but most often become water droplets before they ever touch the earth. Answer choice B is incorrect because the word given is opposite the meaning intended. Answer choice C is incorrect because there is a clear indication of the infrequency, the anomaly, of the occurrence.

Performance Data:
The percent of public school students selecting answer choice A for question 12 on the October 2003 Grade 3 Reading Achievement Test was 52 %.

Keywords:  Context Clues, Word Meaning from Context

BACK TO INDEX
Passage:

Seahorses
Seahorses’ Bodies

Little horses that live in the sea might sound like fairy tale creatures, but seahorses are very real. Of course, they are really fish, not horses. You can’t put a saddle on a seahorse and ride it in the water! They do not have long legs or pointed ears. They are called seahorses because their heads are shaped like the head of a horse.

Hard, bony scales like a knight’s armor cover the seahorse’s body. These scales help protect the seahorse. They keep the seahorse warm in cooler water and cool in warmer water. But their heavy scales also make them very bad swimmers.

Like monkeys, seahorses have long skinny tails. Monkeys use their tails to help them climb trees. Seahorses use their tails to keep them safe while they sleep. They hold onto plants and rocks with their tails so they won’t float away. Then they can rest and sleep safely. Seahorses also use their tails to hold on to one another. Baby seahorses often hold tails like children hold hands. This helps keep them from floating off alone.

A seahorse’s mouth is shaped like a long tube. Seahorses like to eat smaller fish and plants.

Habitat
The natural habitat of seahorses is in the ocean where the water is warm and shallow. Many seahorses live in tropical areas where the water is always warm. Some live in the Pacific Ocean. The Pacific Seahorse is the largest type of seahorse. It can grow as long as 12 inches. Most seahorses, though, are much smaller – just 6 inches long.

Camouflage
Are seahorses colored brown, black, gray or white like real horses? Seahorses come in lots of different colors. They can be white, yellow, red, brown, black, gray, spotted or striped. Seahorses can even change color in the blink of an eye! They can change color to match the background. They use camouflage to hide from their enemies. This is one of the ways they survive. Otherwise, a seahorse might become a tasty snack for larger fish, birds, crabs or sea turtles.

Seahorse Families
Seahorse families are very unusual compared to other animal families. Instead of the female having the babies, the male carries them in a pouch until it is time for them to be born.

Most fish hatch from eggs, but tiny baby seahorses are born live from this pouch. Some males carry 12 babies, and some carry 100 babies at once. It depends on the size and type of seahorse. Once a seahorse is born, it lives about four years.
	WORD BANK
armor – a tough, protective covering

camouflage – the disguise of people or animals to make them look like what is around them

habitat – the place where an animal or plant normally lives


BACK TO INDEX
	Benchmark:     E
	Demonstrate comprehension by responding to questions (e.g., literal, inferential and evaluative).

	GLI:                               RP 3.7
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple Choice Question:

22.  
The largest seahorse is:

A. about 6 inches long.

B. about 12 inches long.

C. about 18 inches long
Commentary:

This multiple-choice question asks students to answer a literal question. Answer choice A is incorrect because there is no mention of a 6 inch measurement in the selection. Answer choice B is correct; under the heading of Habitat one learns that the Pacific Seahorse is the largest and can grow up to 12 inches. Answer C is incorrect because the selection refers to the 12-inch measurement as the largest size for seahorses.

Performance Data:
The percent of public school students selecting answer choice B for question 22 on the October 2003 Grade 3 Reading Achievement Test was 76 %.

Keywords:  Literal Question

BACK TO INDEX
	Benchmark:     A
	Use context clues to determine the meaning of new vocabulary.

	GLI:                  AV 3.1
	Determine the meaning of unknown words using a variety of context clues, including word, sentence and paragraph clues.


Multiple Choice Question:

23. This sentence is from the selection.

         “Many seahorses live in tropical areas where the water is always warm.”

         What does the word tropical mean in the sentence?

A. a place that is very hot and often damp
B. a place that gets cold during parts of the year

C. a place of off the coast of Alaska where seahorses breed

Commentary:

This multiple-choice question asks students to determine the meaning of a word based on the context clues that surround it. Answer choice A is correct because the sentence shows that the water in tropical areas is always warm and that seahorses live in the ocean. Answer choice B is incorrect because there is no indication that seahorses live in areas that are cold. Answer choice C is incorrect because it identifies the habitat of the seahorse as off the coast of Alaska, a statement that is not supported by the selection.

Performance Data:
The percent of public school students selecting answer choice A for question 23 on the October 2003 Grade 3 Reading Achievement Test was 65%.

Keywords:  Context clues

BACK TO INDEX
	Benchmark:     C
	Identify the central ideas and supporting details of informational text.

	GLI:                          IT 3.3
	Identify and list the important central ideas and supporting details of informational text. 


Multiple Choice Question:

24.
An important idea in the reading selection is that seahorses are born in a special way. 

What detail from the selection supports this idea?

A. The baby seahorses live in warm, shallow water.

B. The baby seahorses hold on to each other’s tails.

C. The baby seahorses are carried in the father’s pouch.

Commentary:

This multiple-choice question asks students to determine which of the listed details provides support for one of the major or central ideas in the selection. Answer choice A is incorrect because it addresses the habitat of seahorses. Answer choice B is incorrect because it addresses the movement of many seahorses, holding on to one another to keep from floating off alone. Answer choice C is correct because this information appears under the heading of Seahorse Families and is included in a paragraph that focuses on seahorse babies.

Performance Data:
The percent of public school students selecting answer choice C for question 24 on the October 2003 Grade 3 Reading Achievement Test was 63%.

Keywords:  Central ideas and supporting details

BACK TO INDEX
	Benchmark:     A
	Use text features and structures to organize content, draw conclusions and build text knowledge.

	GLI:                           IT  3.1
	Use the table of contents, chapter headings, glossary, index, captions and illustrations to locate information and comprehend texts.


Multiple Choice Question:

25. Where can you quickly find the meaning of the word habitat?

A. Word Bank

B. reading selection

C. title

Commentary:

This multiple-choice question asks students to use a text feature (chapter, section titles, word banks, footnotes etc.) to locate information. Answer choice A is correct. The word habitat appears in bold letters within the selection to indicate it can be found in the word bank.  The word bank includes bolded words and their definitions.  Answer choice B is incorrect, while the students can infer meaning from context, the question asks where the definition is found, which is not evident in the text itself. Answer choice C is incorrect because the title of the selection is Seahorses, giving no reference to the word habitat.

Performance Data:
The percent of public school students selecting answer choice A for question 25 on the October 2003 Grade 3 Reading Achievement Test was 64%.

Keywords:  Text Features, Word Bank

BACK TO INDEX
	Benchmark:     E
	Demonstrate comprehension by responding to questions (e.g., literal, inferential and evaluative).

	GLI:                               RP 3.7
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Short Answer Question:

26.  
List two ways seahorses are unusual. Use information from the selection in your answers.

A. ____________________________________________________________

                 ____________________________________________________________

B. ____________________________________________________________

                 ____________________________________________________________

Commentary:
This short answer question asks students to identify details from the selection that support the concept that seahorses are unusual.

Performance Data:
The percent of public school students earning each score point for question 26 on the October 2003 Grade 3 Reading Achievement Test:  
	Performance at Each Score Point

	0
	1
	2

	55%
	23%
	19%


Scoring Guidelines
	Points
	Student Response

	2
	Response correctly completes both blanks.

Example:

     1. the male carries the babies

`    2. the babies are born from a pouch

	1
	Response correctly completes one blank.

Example:

     1. the male carries the babies

	0
	Response is incorrect or irrelevant


Keywords:  Comprehension, literal questions
BACK TO INDEX
	Benchmark:     C
	Identify the central ideas and supporting details of informational text.

	GLI:                          IT 3.3
	Identify and list the important central ideas and supporting details of informational text. 


Multiple Choice Question:

27. These sentences are from the selection.

“The natural habitat of seahorses is in the ocean where the water is warm and shallow. Many seahorses live in tropical areas where the water is always warm. Some live in the Pacific Ocean.”

Which title could be used for this part of the selection?

A. What Seahorses Look Like

B. Where Seahorses Live

C. How Seahorses Protect Themselves

Commentary:
This multiple-choice question asks students to read sentences from the selection, make note of the details it includes, and use them to find the central idea, which is written in the format of a heading or title.  Answer choice A is incorrect, there are no details included in this passage from the selection that are descriptors of the seahorse’s physical appearance. Answer choice B is correct pulling together the specific locations for seahorse habitats into one central idea. Answer choice C is incorrect because there is no information describing self-defense.

Performance Data:
The percent of public school students selecting answer choice B for question 27 on the October 2003 Grade 3 Reading Achievement Test was 72 %.

Keywords:  Literal Question
BACK TO INDEX
	Benchmark:     RP-A

IT-C
	Establish a purpose for reading and use a range of reading comprehension strategies to understand literary passages and text.
Identify the central ideas and supporting details of informational text.



	GLI:                                        IT 3.3,                         RP 3.6
	IT 3.3:     Identify and list the important central ideas and supporting details of informational text.
RP 3.6:   Create and use graphic organizers, such as Venn diagrams and webs, to demonstrate comprehension.


Extended Response Question:

28.   Use information from the reading selection to complete the diagram.


Commentary:
This question asks students to use a visual aid to identify information from the selection.  

Performance Data:
	Percentage at Each Score Point

	0
	1
	2
	3
	4

	16%
	13%
	16%
	24%
	29%


Scoring Guidelines:
	Points
	Student Response

	4
	Response correctly completes the four blanks.

Example:

     1. long tube

     2. horse head

     3. stay warm or cool

     4. stay safe while sleeping

	3
	Response correctly completes the four blanks.

Example:

     1. long tube

     2. horse head

     3. stay warm or cool

	2
	Response correctly completes the four blanks.

Example:

     1. long tube

     2. horse head

	1
	Response correctly completes the four blanks.

Example:

     1. long tube

	0
	Response is incorrect or irrelevant.


Keywords:  Visual Aids

BACK TO INDEX
	Benchmark:     E
	Demonstrate comprehension by responding to questions (e.g., literal,                          inferential and evaluative).

	GLI:                               RP 3.7
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple Choice Question:
29.   Which sea animals eat seahorses?

A. clams

B. crabs

C. shrimp

Commentary:

This question asks students to find information that is stated directly in the text. Answer choice A is incorrect because this animal is not mentioned in the selection. Answer choice B is correct because it is literally stated in the last paragraph of the Camouflage section of the selection. “Otherwise, a seahorse might become a tasty snack for larger fish, birds, crabs [emphasis added] or sea turtles.” Answer choice C is incorrect because shrimp is not one of the water animals mentioned in the passage.

Performance Data:

The percent of public school students selecting answer choice B for question 29 on the October 2003 Grade 3 Reading Achievement Test was 72%.

Keywords:  Literal Question
BACK TO INDEX
	Benchmark:     B
	Ask clarifying questions concerning essential elements of informational text.

	GLI:                                          IT 3.2
	List questions about essential elements (e.g., why, who, where, what, when and how) from informational text and identify answers. 


Multiple Choice Question:

30.    These sentences are from the selection.

“Seahorse families are very unusual compared with other animal families. Instead of the female having the babies, the male carries them in a pouch until it is time for them to be born.”

Which question is answered in this paragraph?

A. How do female seahorses care for their young?


B. How many babies do seahorses have at one time?

C. How are seahorses different from most other animals?

Commentary:
This multiple-choice question asks students to read a given portion of text and select a question that could be answered within that specific section. Students need to critically read, not only to choose the question, but also to recognize they can only use the information stated in the quotation to choose the question. Answer choice A is incorrect because there is no mention in the paragraph that females carry their babies. In fact, the details reveal that it is the father that provides caring and nurturing.   Answer B is incorrect. The answer to this specific question can be found in the paragraph that follows this one. Answer C is correct because it sets up a comparative. The first statement in this paragraph sets up the comparison, the sentences that follow serve as the supporting details.

Performance Data:
The percent of public school students selecting answer choice C for question 30 on the October 2003 Grade 3 Reading Achievement Test was 53 %.

Keywords:  Clarifying questions

 BACK TO INDEX
Passage

Wilma Rudolph, Olympic Champ
“She’s fast as lightning! Don’t blink your eyes, you might miss her!” This is what the fans said about Wilma Rudolph. Wilma was the first American woman and the first African-American woman to win three gold medals at one Olympic Games.

She won her gold medals in running events. What makes her victories even more amazing is that Wilma had polio as a child. Polio is a crippling disease. The disease made one of her legs very weak. Her leg was so weak that she could not walk without wearing a brace. She could not run and play on the playground with the other children. But she told herself that one day she would be able to run too.

At home, Wilma’s family gave her the strength to work hard at getting well. They helped her do special exercises to make her leg stronger. By the time she was 12, Wilma could walk without help.

In high school, Wilma’s leg was much better. She started playing sports. Wilma became the star of her basketball team. Her coach gave her the nickname “Skeeter” because she always seemed to be buzzing around like a mosquito. She also joined the women’s track team. Wilma won every race that she ran.

Wilma went on to become one of the world’s fastest female runners. She ran in her first Olympic Games when she was only 16. She was the youngest member of the Olympic team. “I don’t know why I run so fast,” she said. “I just run.”

Wilma is now known as a famous Olympic runner. She became a teacher and a coach after ending her running career. She wanted to help other children work hard and reach their dreams. Wilma told the children, “The most important thing is to be yourself and have confidence in yourself.”

	Word Bank
confidence – believing in something, trust

career – job

mosquito – an insect that flies



BACK TO INDEX
	Benchmark:     C
	Identify the central ideas and supporting details of informational text.

	GLI:                          IT 3.3
	Identify and list the important central ideas and supporting details of informational text. 


Multiple Choice Question:

 7.   
What is a central idea in the reading selection?

A. If you work hard, you can fulfill your dreams

B. Sports are fun to play with your family and friends

C. People who have had polio can walk again.

Commentary:
This multiple choice question asks students to identify the central idea of the selection.   Answer choice A is correct because the selection indicates that Wilma Rudolph attributes her success to working hard to reach her goals and that she now works to get children to have that same life goal. This is a reflection of the intent or message presented in the selection and serves as support for answer choice A.  Answer choice B is incorrect because the selection indicates Wilma did not run and play with family or friends because her leg was too weak.  Answer choice C is incorrect because the selection states that Wilma walked and ran again; but does not indicate others with polio did (or have done) the same. The inference in the selection is that her walking and then running were amazing in that time period.

Performance Data: 

The percent of public school students selecting answer choice A for question 7 on the March 2004 Grade 3 Reading Achievement Test was 81%.

Keywords:  Central Idea, Main Idea

BACK TO INDEX
	Benchmark:     D
	Apply reading skills and strategies to summarize and compare and contrast information in text, between text and across subject areas.

	GLI:                                                RP 3.4
	Summarize texts, sequencing information accurately and include main ideas and details as appropriate.


Short Answer Question:

8.   Number these events from Wilma’s life in the order that they happened.

1 Wilma wore a brace on her leg.


Wilma was a teacher and coach



Wilma won three Olympic gold medals.



Wilma was a basketball star.

Commentary:
This short answer question asks students to summarize the events in Wilma’s life by ordering the series of events listed here. One response has been given to the student to provide them with a starting place to begin ordering the other statements. 

	Points
	Student Response

	2
	Response correctly orders the events.

Example: 1, 4, 3 ,2

	1
	Response correctly orders at least one event.

Example 1, 2, 3, 4

	0
	Response is incorrect or irrelevant.


Performance Data:

	Performance at Each Score Point

	0
	1
	2

	10%
	43%
	46%


Keywords:  Sequence, Reading Skills, Reading Strategies

BACK TO INDEX
	Benchmark:     E
	Demonstrate comprehension by responding to questions (e.g., literal, inferential and evaluative).

	GLI:                               RP 3.7
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple Choice Question:

9.   
Why did Wilma Rudolph have to wear a brace?

A. It helped her run faster. 

B. Her leg was not strong.

C. Her back was not strong.

Commentary:
In this multiple choice question students are asked to display comprehension of the selection by answering a literal, inferential or evaluative question.  Answer choice A is incorrect because the selection states that it was Wilma’s determination and hard work that lead to her ability to run fast and succeed at her dreams, not the brace.  Answer choice B is correct because the selection indicates that Wilma had polio as a child. It further explains that polio was a disease that made the legs weak. Students must have an understanding of the text to connect this concept to its restatement.  Answer choice C is also incorrect because there is no textual support in the selection for this answer. No details are present which would lead a student to make this choice.

Performance Data:

The percentage of public school students electing answer choice B for question 9 on the March 2004 Grade 3 Reading Achievement Test was 91%.

Keywords:  Literal Question
BACK TO INDEX
	Benchmark:     C
	Identify the central ideas and supporting details of informational text.

	GLI:                          IT 3.3
	Identify and list the important central ideas and supporting details of informational text. 


Short Answer Question:

10. Wilma Rudolph is an amazing person. Using the reading selection, write two details to support this central idea.
A.

 


B. 


Commentary: 

This short answer questions requires the student to support a central idea with details that come from the selection.  Students must be able to synthesize information and provide support for that synthesis, rather than simply supporting the idea with thoughts or opinions of their own.  The answers for this item could come from several of the facts/details within the selection. Because this selection is rich with details, students have ample material from the text to use as support.  

Scoring Guidelines

	Points
	Student Responses  

	2
	Response correctly completes both blanks

Example: 

1. She won three Olympic gold medals.  

2. She overcame polio.

3. She ran in her 1st Olympic at age 16.  

	1
	Response correctly completes one blank.

Example: 

1. She won three Olympic gold medals.

	0
	Response is incorrect or irrelevant.  


Performance Data:

	Performance at each Score Point

	2
	1
	0

	49%
	33%
	17%


Keywords:  Draw Conclusions
BACK TO INDEX
	Benchmark:     C
	Identify the central ideas and supporting details of informational text.



	GLI:                          IT 3.3
	Identify and list the important central ideas and supporting details of informational text. 


Multiple Choice Question:

11.    This paragraph is from the selection.

     “Wilma is now known as a famous Olympic runner. She became a teacher and a coach after ending her running career. She wanted to help other children work hard and reach their dreams.”

What is the best heading for the paragraph?

A. Wilma’s Victories

B. Wilma’s Childhood

C. Wilma’s Family

Commentary:

This multiple choice question requires students to summarize a paragraph from the selection and to conceptualize what title would most be appropriate.  Answer choice A is correct because the paragraph provided embraces all of Wilma Rudolph’s great accomplishments, including her desire to help children believe in themselves. Answer choice B is incorrect.   While the selection talks about Wilma’s childhood, it does not address the information included in the given paragraph.  Answer choice C is also incorrect.  Wilma’s family is briefly mentioned in the passage, but the information about her family is not reflective of the ideas presented in the given paragraph.

Performance Data:

The percent of public school students selecting answer choice A for question 11 on the March 2004 Grade 3 Reading Achievement Test was 65%.

Keywords:  Text Structures
BACK TO INDEX
	Benchmark:     E
	Demonstrate comprehension by responding to questions (e.g., literal, inferential and evaluative).

	GLI:                               RP 3.7
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple Choice Question: 

12.   What did Wilma’s family do to help her walk?

A. They taught her to play basketball.

B. They helped her do her leg exercises.

C. They went to all her races and games.

Commentary:
This multiple choice question asks students to show comprehension of the selection by answering a literal, inferential or evaluative question. Literal comprehension is critical in the development of other comprehension skills.  While the selection does indicate that Wilma played basketball, there is no indication that her family assisted in instructing her how to do so, therefore answer choice A is incorrect.  Answer choice B is correct because the selection states “the family helped her do special exercises to make her legs stronger”.   Answer choice C is incorrect.  The statement could be an inference from the selection, but it would address events that occur after Wilma starts walking, not precede it.  

Performance Data:
The percent of public school students selecting answer choice B for question 12 on the March 2004 Grade 3 Reading Achievement Test was 65%

Keywords:  Literal Questions

BACK TO INDEX
	Benchmark:     A
	Use context clues to determine the meaning of new vocabulary.

	GLI:                  AV 3.1
	Determine the meaning of unknown words using a variety of context clues, including word, sentence and paragraph clues.


Multiple Choice Question: 

13.    This sentence is from the selection.

         “The disease made one of her legs very weak.”

         What does disease mean in the sentence?

A. brace

B. illness

C. exercises

Commentary:
This multiple choice question requires students to use contextual clues to determine the meaning of a word. Answer choice A is incorrect because the brace was a useful tool used to help Wilma walk. Answer choice B is correct because students could omit the word disease, reread the sentence inserting illness and see that the sentence retains its same meaning. Answer choice C is incorrect because the exercises were designed to make Wilma’s leg stronger. 

Performance Data:
The percent of public school students selecting Answer choice B for question 13 on the March Grace 3 Reading Achievement Test was 79%.

Keywords:  Context Clue

BACK TO INDEX
Passage:

Stargazers

Not long after the sun sets, the sky becomes darker and darker. On clear nights points of light begin to appear in the sky.

These points of light are stars. Stars give off heat and light because of their hot gases, which make stars shine.

Stargazers are people who watch the night sky. Some stargazers are called astronomers. Astronomers know a lot about stars.

Some stars are bigger, some are smaller. Most stars are very large. The sun is a yellow star. It is over a million times larger than our planet Earth. All the other stars in the night sky look tiny because they are so much farther away.

Stars are so far away from Earth that their distances are measured in light years, not miles. The sun is eight light minutes from us. The next star is four light years away. Some stars are billions of light years away!
Some stars look brighter than others. Also stars are different colors. Some look red, some are yellow and others look white. The cooler stars are red, the warmer stars are yellow and the hotter stars are bluish white.

Stars look like they twinkle, too. This is because of the air around Earth, called the atmosphere. As starlight travels through the atmosphere, it makes some stars look like they are twinkling.

During the night, the stars move across the sky from east to west. This is because the planet Earth turns slowly from west to east. The stars rise and set just like the sun does.

During the year, stargazers see different stars in the night. There are stars in the sky during the day, too. They can’t be seen because of the bright sunlight.

About 2,000 stars can be seen while looking up at the sky on a clear, dark night. Some stargazers use a pair of binoculars to get a better look at a star or a small group of stars.

Other stargazers and astronomers gaze through telescopes. They are able to see some stars clearer, and also other stars that are too far away to be seen with eyes alone.

Some telescopes are huge. They are in observatories where astronomers study the skies.

Most telescopes can take pictures that the astronomers can study later. They are always making new discoveries. 
People can go to planetariums to find out about stars. They sit in a circular room. The lights dim and everyone looks up.

A special machine shows the motions of the stars and planets on the domed ceiling. What a beautiful sight! The planetarium director explains what and where the different stars, constellations, and planets are.

At night the sky sparkles with thousands of stars. The more you study the stars and constellations the more you will learn. It’s fun to be a stargazer.

	Word Bank
binoculars – a hand-held tool to look at far-away objects

constellations – patterns formed by stars

planetariums – dome-shaped ceilings where stars and objects in outer space are shown on the ceiling

telescopes – tools that have lenses or mirrors for viewing far-away objects and for studying objects in outer space



“Stargazers” by Gail Gibbons.

BACK TO INDEX
	Benchmark:     E
	Demonstrate comprehension by responding to questions (e.g., literal, informational and evaluative).

	GLI:                               RP 3.7
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple Choice Question:

23.   Why does the sun look big?

A. It is yellow so people can see it better.

B. It is hotter than the other stars.

C. It is closer to Earth than the other stars.
Commentary:
This multiple choice question asks students to draw a conclusion from a phrase within the text. Answer choice A is incorrect because the selection does not specifically indicate that the sun is yellow. Answer choice B is incorrect because there is no mention of this in the text. Answer choice C is correct. There are several facts in the selection that support this conclusion. The sun is eight light minutes from us. The next star is four light years away. Some stars look brighter than others. The warmer stars are yellow and the hotter stars are bluish white. 

Performance Data:

The number of public school students selecting answer choice C for question 23 on the March Grade 3 Reading Achievement Test was 73%.

Keywords:   Conclusions

BACK TO INDEX
	Benchmark:     RP-A

IT-C
	Establish a purpose for reading and use a range of reading comprehension strategies to understand literary passages and text.
Identify the central ideas and supporting details of informational text.



	GLI:                                        IT 3.3,                         RP 3.6
	IT 3.3:     Identify and list the important central ideas and supporting details of informational text.
RP 3.6:   Create and use graphic organizers, such as Venn diagrams and webs, to demonstrate comprehension.


Multiple Choice Question: 

24.   Choose the idea that completes the web below.

A. study weather

B. use telescopes

C. travel in space







Commentary:

This multiple choice item asks students to use a graphic organizer to sort and store information from the selection. Answer choice A is incorrect because astronomers do not study the weather; that is the job of meteorologists. Answer choice B is correct because the equipment mentioned here is used by stargazers and astronomers according to the passage. Answer choice C is incorrect. There is no evidence to support this answer. Space travel is not mentioned within the text.

Performance Data:
The percent of public school students selecting answer choice B for question 24 of the March 2004 Grade 3 Reading Achievement Test was 70%.

Keywords:  Reading comprehension strategies

BACK TO INDEX
	Benchmark:     E
	Demonstrate comprehension by responding to questions (e.g., literal, inferential and evaluative).

	GLI:                               RP 3.7
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple Choice Question:

25.   How do stargazers measure a star’s distance from Earth?

A. in light years

B. in light feet

C. in light miles

Commentary:
This multiple choice question asks students to respond to a literal question. Answer choice A is correct because it is directly stated in the fifth paragraph of the text. “Stars are so far away from Earth that their distances are measured in light years, not miles.” Answer choice B is incorrect because light feet is used in the text to give students an idea of how much bigger a light year really is than anything that they can conceive. Answer choice C is incorrect because there is no mention of this term within the selection.

Performance Data:
The percent of public school students selecting answer choice A for question 25 on the March 2004 Grade 3 Reading Achievement Test was 76%.

Keywords:  Literal Question
BACK TO INDEX
	Benchmark:     RP-A

IT-C
	Establish a purpose for reading and use a range of reading comprehension strategies to understand literary passages and text.
Identify the central ideas and supporting details of informational text.



	GLI:                                        IT 3.3,                         RP 3.6
	IT 3.3:     Identify and list the important central ideas and supporting details of informational text.
RP 3.6:   Create and use graphic organizers, such as Venn diagrams and webs, to demonstrate comprehension.


Extended Response Question:

26.   Astronomers use tools to study the stars. Use information in the reading selection to complete the Astronomer’s Tools chart below.

	Astronomer’s Tool
	Why is the Tool Useful

	
	

	
	

	
	

	
	


Commentary:

This extended response question asks students to find specific information and give support for why that was their selection. 

	Scoring Guidelines

	Points
	Student Response 

	4
	Response correctly completes the four blanks.

Example:

Astronomer’s Tools

Why is the Tool Useful

Binoculars

Astronomers can get a better look at the sky.

Telescopes

Astronomers can take a picture of the stars.


	3
	Response correctly completes three blanks.

Example:

Astronomer’s Tools

Why is the Tool Useful

Binoculars

Astronomers can get a better look at the sky

Telescopes



	2
	Response correctly completes two blanks.

Example:

Astronomer’s Tools

Why is the Tool Useful

Binoculars

Telescopes



	1
	Response correctly completes one blank.

Example:

Astronomer’s Tools

Why is the Tool Useful

Binoculars



	0
	Response is incorrect or irrelevant.


Performance Data:
	Performance at each Score Point

	4
	3
	2
	1
	0

	57%
	6%
	19%
	3%
	12%


Keywords:  Central Idea, Supporting Detail

BACK TO INDEX
	Benchmark:     C
	Identify the central ideas and supporting details of informational text.

	GLI:                          IT 3.3
	Identify and list the important central ideas and supporting details of informational text. 


Multiple Choice Question:

27.    An important idea from the reading selection is that stars are very far away from Earth.

Which detail supports this idea?

A. The distance between the stars and Earth is measured in light years.

B. Stars look bright and twinkle because of Earth’s atmosphere.

C. The sun is more than a million times larger than Earth.

Commentary:
This multiple choice question asks students to identify major points as they are expressed in a nonfiction article or text and find details that support each. Answer choice A is the correct answer. The fifth paragraph of the text explains, “Stars are so far away from Earth that their distances are measured in light years, not miles.” This statement directly supports the notion of stars being far away. Answer choice B is incorrect. This idea is not supported by the selection. It speaks to the refraction of the light through the atmosphere of the Earth. There is nothing in this 
statement that supports the notion of distance. Answer choice C is incorrect. It does nothing to
support the central idea that is given in the question. The sun’s appearance as large is directly related to its position in relationship to the earth. It appears large because it is close; others that are far away appear smaller.

Performance Data:
The percent of public schools students selecting answer choice A for question 27 on the March 2004 Grade 3 Reading Achievement Test was 64%.

Keywords:  Central Idea, supporting details

BACK TO INDEX
	Benchmark:     A
	Use text features and structures to organize content, draw conclusions and build text knowledge.

	GLI:                           IT  3.1
	Use the table of contents, chapter headings, glossary, index, captions and illustrations to locate information and comprehend texts.


Multiple Choice Question:


28.   Where can you find the definition of binoculars?

A. in the chapter heading

B. in the Word Bank

C. in the selection

Commentary:

This multiple choice question asks students to determine how to use specific resources and tools from the selection as a comprehension strategy. Answer choice A is incorrect because there are no subheadings included in this selection. Answer choice B is correct. In many selections of informational text students find word banks that help them with meanings of unknown topic specific words. This is an example of that practice. Answer choice C is a good reading strategy. However, in this instance it is an incorrect answer. The context in which this word is found provides no cues as to its meaning.

Performance Data:
The percent of public school students selecting answer choice B for question 27 on the March 2004 Grade 3 Reading Achievement Test was 74%,

Keywords:  Text features, text knowledge

BACK TO INDEX
	Benchmark:     B
	Ask clarifying questions concerning essential elements of informational text.

	GLI:                                          IT 3.2
	List questions about essential elements (e.g., why, who, where, what, when and how) from informational text and identify answers. 


Multiple Choice Question: 

29.    This paragraph is from the selection


“Stars look like they twinkle, too. This is because of the air around Earth, called the atmosphere. As starlight travels through the atmosphere, it makes some stars look like they are twinkling.”

Which question does the paragraph answer?

A. Why do astronomers study stars?

B. What is starlight?

C. Why do stars twinkle?

Commentary:

This multiple choice question asks students to identify a question that can be answered by the paragraph selected for this question. Answer choice A is incorrect because there is no mention of the astronomers in this paragraph. They play a large role in the selection, but are not the central idea or focus of what students read here. Answer choice B is incorrect because it does not fully address the question. Students choosing this question may have tried to summarize the paragraph given, not only in the question but also the paragraph that precedes it. Answer choice C is correct.  The information in the paragraph directly points to this question. Included in the paragraph are these facts: they look like they twinkle; and air around the earth makes stars look like they twinkle when the light travels through the atmosphere.

Performance Data: 

The percent of public school students selecting answer choice C for question 29 on the March 2004 Grade 3 Reading Achievement Test was 75%.

Keywords:  Clarifying Questions

BACK TO INDEX
	Benchmark:  E    
	Demonstrate comprehension by responding to questions (e.g. literal, inferential and evaluative).

	GLI:                               RP 3.7
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Short Answer Question:

30.   Use the information in the reading selection to complete the chart about stars.

Stars Chart

	Color
	Temperature

	red
	

	
	warmer

	bluish white
	hotter


Commentary:
This short answer question asks students to reply literally to a question and place the answers in the correct location of a graphic organizer.

	Points
	Student Response

	2
	Response correctly completes both blanks.

Example:

Color

Temperature

red

cooler

yellow

warmer

bluish white

hotter



	1
	Response correctly completes one blank.

Example:

Color

Temperature

red

yellow

warmer

bluish white

hotter



	0
	Response is incorrect or irrelevant.


Performance Data:
	Performance at each Score Point

	2
	1
	0

	63%
	24%
	12%


Keywords:  Literal Question

BACK TO INDEX
	Benchmark:     A
	Use context clues to determine the meaning of new vocabulary.

	GLI:                  AV 3.1
	Determine the meaning of unknown words using a variety of context clues, including word, sentence and paragraph clues.


Multiple Choice Question:

31. This sentence is from the selection.

“Other stargazers and astronomers gaze through telescopes.”

What does the word gaze mean?

A. study

B. count

C. look

Commentary:

This multiple choice question asks students to use the context of the sentence or selection to assist with unknown words. Answer choice A is incorrect. This word fits the sentence grammatically, however does not match the intent of the selection. Answer choice B is incorrect. This response would indicate an appropriate guess grammatically. Both gaze and count are verbs. It is not accurate semantically. Answer choice C is correct.  Students use information from earlier in the text which states “Stargazers are people who watch the night sky.”  Students can replace the word watch with look in the same way they can with gaze.

Performance Data:

The percent of public school students selecting Answer choice C for question 31 on the March 2004 Grade 3 Reading Achievement Test was 74%.

Keywords:   Context Clue

BACK TO INDEX
Passage:
Rabbits, Rabbits and More Rabbits

by Gail Gibbons


There are wild rabbits and tame rabbits.  Tame rabbits can be gentle and loving pets.


The two most common kinds of wild rabbits are cottontail rabbits and European common rabbits.  Wild rabbits live on every continent except Antarctica.  All tame rabbits are descendants of European common rabbits.


There are big rabbits and small rabbits.  Their heads can be pointed and narrow or broad and flat.  Wild rabbits have short brownish fur.  Domestic rabbits have short or long fur that can be white, black, gray, reddish, brown or a mixture of these colors.  Their fur keeps them warm.


Hop . . . hop . . . hop!  Rabbits get around by using their powerful hind legs.  They can also run as fast as 18 miles an hour.  Many can leap 10 feet or more.


A rabbit depends most of all on its excellent hearing.  It moves its ears together or one at a time to catch the sounds coming from any direction.


Rabbits can see better in the dark than people.  A rabbit’s eyes are on the sides of its head.  Because of this, it can see on both sides as well as to the front and back.  A rabbit has a good sense of smell, too.  Its nose wiggles constantly as it sniffs to identify any scents.


Rabbits are vegetarians.  That means they don’t eat meat.  In the spring and summer months, wild rabbits eat leafy plants.  Biting and chewing helps wear down their front teeth, which grow continuously.  During the winter months, they live on bark, twigs and the old fruit of bushes and trees.  Rabbits are nocturnal.  They eat and play most of the night from dusk to dawn.  During the day they rest and sleep.


A well-cared-for pet rabbit can live eight to twelve years.  In the wild a rabbit may life to be about five years old.  A male rabbit is called a buck.  A female rabbit is called a doe.


Baby rabbits are called kits or kittens.  They are born with their eyes closed and without any fur.  To keep them warm the mother covers them with grass and bits of her fur in the nest she has dug in the ground.  At about a week old, the kits have opened their eyes and grown a coat of soft fur.


When they are about two weeks old, the kits leave their nest.  Their mother only nurses them for the first few weeks of their lives.  Then they begin to find their own food.  When they are about six months old they begin to raise their own young.


It’s fun to adopt a baby rabbit or a grown rabbit for your own pet, but you must allow time to take care of it.


Rabbits are lots of fun to watch in their natural environment.  But, best, of all, rabbits are fun to play with. They are wonderful pets that require lots of care, attention and love.

“Copyright © 2000 by Gail Gibbons.  Reprinted by permission of Holiday House, Inc.”

BACK TO INDEX
	Benchmark:     A
	Establish a purpose for reading and use a range of reading comprehension strategies to understand literacy passages and text.

	GLI:                           RP 3.1
	Establish a purpose for reading (e.g., to be informed, to follow directions or to be entertained).


Multiple-Choice Question:
12.   What is the author’s purpose for writing this reading selection?

A. to entertain

B. to list directions

C. to inform

Commentary:

This multiple-choice question asks students to determine the reason the author wrote this passage and/or the purpose for which someone would read it. Students at the Grade 3 level are taught that there are 3 main reasons for reading a selection: to be informed, to follow directions or to be entertained. Answer choice A is incorrect. While students may find some interesting or entertaining parts in the selection, Grade 3 readers will note that this is not the overall purpose of the selection. Answer choice B is incorrect. There are no directions in this selection. If the selection had step-by-step instructions on how to build a rabbit cage, with none of the other information presented, it would fit this choice. Answer choice C is correct. The author has written a selection that is fun to read, but it presents much information about rabbit types, pet rabbits and caring for rabbits (as pets and in the wild).

Performance Data: 

The percent of public school student selecting answer choice C for question 12 on the October 2004 Grade 3 Reading Achievement Test was 53%.

Keywords:  author’s purpose, comprehension
BACK TO INDEX
	Benchmark:     E
	Demonstrate comprehension by responding to questions (e.g., literal, informational and evaluative).

	GLI:                               RP 3.7
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple-Choice Question:

	13.

	All tame rabbits come from



	A.

European common rabbits.

B.

cottontail rabbits.

C.

Antarctica rabbits.


	


Commentary:

This multiple-choice question asks students to determine the answer to a question based on information they found in the reading selection. In this case students are to use the word bank, a feature common to reading selections at this grade level, to determine a word meaning and use that meaning to help answer the question. Answer choice A is correct; it is taken verbatim from the selection. Answer choice B is incorrect. The selection states that cottontail rabbits are one of the most common kinds, but they are different from European common rabbits. Answer choice C is incorrect. Wild rabbits, which include both European and cottontail, exist everywhere but Antarctica.

Performance Data: 

The percent of public school students selecting answer choice A for question 13 on the October 2004 Grade 3 Reading Achievement Test was 64%.

Keywords:  text features, draw conclusions


BACK TO INDEX
	Benchmark:     C
	Draw conclusions from information in text.

	GLI:                                                RP 3.4
	Summarize texts, sequencing information accurately and include main ideas and details as appropriate.


Short-Answer Question:

14. Show how kits grow by completing the chart below.

Kit Growth Chart

	Week
	Description

	Birth
	Kits’ eyes are closed, and they don’t have any fur.

	One Week
	







	Two Weeks
	Kits leave the nest.

	Six Months
	








Commentary:
This short-answer question asks students to complete a timeline of the early stages of rabbits’ growth and development by using information that is in the selection. 

	Points
	Student Response

	2
	Response correctly completes both blanks. 

Example: 

Week

Description

Birth

Kits’ eyes are closed, and they don’t have any fur.

One Week

Kits open their eyes and have grown a coat of soft fur

Two Weeks

Kits leave the nest.

Six Months

they begin to raise their own young.



	1
	Response correctly completes one blank.

Example: 

Week

Description

Birth

Kits’ eyes are closed, and they don’t have any fur.

One Week

Kits open their eyes 

Two Weeks

Kits leave the nest.

Six Months

____________________________



	0
	Response is incorrect or irrelevant.


Performance Data:

The percent of public school students at each score point for question 14 on the October 2004 Grade 3 Reading Achievement Test was

	Performance at Each Score Point

0

1

2

14%

26%

58%


Keywords:  draw conclusions

BACK TO INDEX
	Benchmark:     E
	Demonstrate comprehension by responding to questions (e.g. literal, informational and evaluative).

	GLI:                               RP 3.7
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple-Choice Question:

15.   Antarctica is the only place where wild rabbits

A. do not live.

B. do not have long fur.

C. live longer than tame rabbits.

Commentary:

This multiple-choice question asks students to answer a literal question, one that can be found stated in the selection without the need to evaluate or infer. In this case students are asked to determine what is unique about wild rabbits and the location Antarctica.” Answer choice A is correct. The selection states, “Wild rabbits live on every continent except Antarctica”. Answer choice B is incorrect. The distinction about hair length is mentioned only in relation to domestic rabbits, not wild rabbits. Answer choice C is incorrect. Since rabbits do not live in Antarctica, there is no data about their life span. However, in all other geographic areas, domestic rabbits live longer than wild ones.

Performance Data: 

The percent of public school students selecting answer choice A for question 15 on the October 2004 Grade 3 Reading Achievement Test was 65%.

Keywords:  literal questions, comprehension

BACK TO INDEX
	Benchmark:     B
	Ask clarifying questions concerning essential elements of informational text.

	GLI:                                          IT 3.2
	List questions about essential elements (e.g., why, who, where, what, when and how) from informational text and identify answers. 


Multiple-Choice Question:
16.    This paragraph is from the selection.


   “A rabbit depends most of all o n its excellent hearing. It moves its ears together or one at a time to catch the sounds coming from any direction.”

         Which question is answered by this paragraph?

A. How do rabbits use their ears to catch their food?

B. How do rabbits use their ears to hear sounds around them?

C. How do rabbits move their ears to talk to other rabbits?

Commentary:

This multiple-choice question asks students to read an excerpt from the selection and decide which question could be asked about it. This skill is critical as students begin to read more complex texts and develop research questions based on what they have read. Answer choice A is incorrect. There is no mention of how their hearing helps them find food. Answer choice B is correct. The excerpt, especially the second sentence, discusses the way rabbits catch the 
sounds around them. Answer choice C is incorrect. While rabbits do move their ears to catch sounds, they are not communicating with other rabbits around them.

Performance Data: 

The percent of public school students selecting answer choice B for question 16 on the October 2004 Grade 3 Reading Achievement Test was 78%.

Keywords:  clarifying questions, essential elements
BACK TO INDEX
	Benchmark:     E
	Demonstrate comprehension by responding to questions (e.g., literal, informational and evaluative).

	GLI:                               RP 3.7
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple-Choice Question:

17. Which food will a rabbit eat?

A. chicken

B. lettuce

C. honey

Commentary:

This multiple-choice question asks students to draw a conclusion based on information they have read in the selection. In this case students are to determine which of the listed foods rabbits are most likely to eat by using knowledge gained from what they have read. Answer choice A is incorrect. The selection states that rabbits are vegetarians, which means they eat no meat. Answer choice B is correct. Lettuce is a green, leafy vegetable, which meets the dietary taste of rabbits. Answer choice C is incorrect. Rabbits eat foods that help to wear down their front teeth, which are constantly growing.

Performance Data: 

The percent of public school students selecting answer choice B for question 17 on the October 2004 Grade 3 Reading Achievement Test was 92%.

Keywords:  draw conclusions

BACK TO INDEX
	Benchmark:     C
	Identify the central ideas and supporting details of informational text.

	GLI:                          IT 3.3
	Identify and list the important central ideas and supporting details of informational text. 


Extended-Response Question:

18. 
Rabbits depend on their senses is an important idea from the reading selection. List four details from the selection to support this idea.

A. 

B.  

C.

D.


Commentary: 

This extended-response question asks students to find supporting details for the central idea: rabbits depend on their senses. The details are to come from the selection.

Scoring Guidelines
	Points
	Student Response

	4
	Response identifies four details. 

Example: 

1. Rabbits use their hearing to hear sounds from any direction. 

2. Rabbits see better in the dark than people. 

3. Rabbits have eyes on the sides of its head so it can see in many directions.

4. Rabbits have a good sense of smell and can identify any scents.

	3
	Response identifies three details.

Example:

1. Rabbits can hear in any direction.

2. Rabbits can see all around them.

3. Rabbits can identify many scents. 


	2
	Response identifies two details. 

Example:

1. Rabbits can see in the dark.

2. Rabbits can smell most things.

	1
	Response identifies one detail. 

Example:

Rabbits can hear in all directions.

	0
	Response is incorrect or irrelevant.


Performance Data:
The percent of public school students at each score point for question 18 on the October 2004 Grade 3 Reading Achievement Test was

	Performance at Each Score Point

  0

  1

  2

 3

 4

59%

19%

10%

6%

2%


Keywords:  central idea, main idea, supporting details

BACK TO INDEX
	Benchmark:     C
	Identify the central ideas and supporting details of informational text.

	GLI:                          IT 3.3
	Identify and list the important central ideas and supporting details of informational text. 


Multiple-Choice Question:
19.   This paragraph is from the selection.

     
      “Baby rabbits are called kits or kittens. They are born with their eyes closed and without any fur. To keep them warm the mother covers them with grass and bits of her fur in the nest she has dug in the ground. At about a week old, the kids have opened their eyes and grown a coat of soft fur.”

What is the central idea of this paragraph?

A. how wild and domestic rabbits are different

B. how young rabbits begin to change

C. why rabbits make good pets
Commentary:

This multiple-choice question asks students to identify the central, or main, idea of an excerpt from the selection. Recognizing and understanding the central idea of text is a skill students will use throughout their academic careers. In addition, they will be required to find the central idea of documents they read when they are in the workplace. In this case they are asked to read an excerpt from the selection and determine which of the answer choices best states the central
idea. Answer choice A is incorrect. There is mention of the differences between wild and domestic rabbits in the excerpt, but that is not the focus of the excerpt. Answer choice B is correct; the focus of this excerpt is the growth and development of the kits, or young rabbits. Answer choice C is incorrect. This excerpt tells the reader about the physical changes that occur in young rabbits, not about how to make them pets.

Performance Data: 

The percent of public school students selecting answer choice B for question 19 on the October 2004 Grade 3 Reading Achievement Test was 77%.

Keywords:  central idea, main idea, supporting details


BACK TO INDEX
	Benchmark:     A
	Use context clues to determine the meaning of new vocabulary.

	GLI:                  AV 3.1
	Determine the meaning of unknown words using a variety of context clues, including word, sentence and paragraph clues.


Multiple-Choice Question:

20.   This sentence is from the selection.
       
“Rabbits get around by using their powerful hind legs.”
         What word means the same as powerful?

A. weak

B. large

C. strong
Commentary:

This multiple-choice question asks students to determine a word meaning based on the context of (or information around) that word. In this case students are asked to determine the meaning of the word powerful and find the answer choice which has the most closely matching word. Answer choice A is incorrect. If rabbits are able to use their hind legs for movement, using the word weak would make the sentence illogical. Answer choice B is also incorrect. The size of the legs has little to do with how well or how easy it is for rabbits to get around. Answer choice C is correct. Strong in this case is a synonym for powerful; it shares the same meaning. 

Performance Data: 

The percent of public schools students selecting answer choicer C for question 20 on the October 2004 Grade 3 Reading Achievement Test was 90%.

Keywords:  context clues

BACK TO INDEX
Passage:
Smell

Mandy Suhr


Close your eyes and sniff the air.  What can you smell?


There are thousands of different kinds of smell.  Some smells are sweet . . . and some smells are stale.  Some things are nice to smell . . . but some are not so nice!  Some smells can make you feel hungry.  But sometimes, being able to smell is not such a good thing!


Smells are made of tiny particles.  They float in the air and are so small that you can’t see them.  When you breathe, these tiny particles go into your nose.  They cling to the sticky mucus that is inside your nose.


Under the mucus are special smell detectors.  They collect the particles.  The particles stick to the smell detectors, which send messages to your brain.  These messages help your brain to figure out what kind of smell you are smelling.


All your senses work together, but smell and taste are special partners.  When you smell something, it helps you to figure out what the taste will be like.  When you have a cold, you can’t smell very well.  That is because your nose is blocked.  Often you can’t tell what things taste like either.


Some animals are really good at smelling.  Dogs can find things just by smelling the scent that is left behind where something or someone has been.  This is why dogs are often used to help find missing people.


Being able to smell can sometimes warn you of danger.  Often you can smell things you might not be able to see, like gas or something burning.


What is your favorite smell?

“Reproduced by permission of Hodder and Stoughton Limited”

BACK TO INDEX
	Benchmark:     E
	Demonstrate comprehension by responding to questions (e.g., literal, informational and evaluative).

	GLI:                               RP 3.7
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple-Choice Question:

30. Use information from the reading selection to decide which sentence about smells is true.

A. There are many different kinds of smells in the air.

B. People are as good at smelling things as dogs are.

C. People can smell only the things that they can see.

Commentary:

This multiple-choice question asks students to read the selection and determine which answer choice is an accurate statement based on what they have read. Grade 3 students have practiced making a logical inference based on what they have read. Answer choice A is correct. The second sentence of the selection states that there “are thousands of different kinds of smells.” Answer choice B is incorrect. The selection shows how humans and dogs use and develop the sense of smell. Dogs’ sense of smell is much stronger. Answer choice C is incorrect. Humans are able to smell many things they cannot see.

Performance Data: 

The percent of public school students selecting answer choice A for question 30 on the October 2004 Grade 3 Reading Achievement Test was 81%.

Keywords:  comprehension, inference
BACK TO INDEX
	Benchmark:     A
	Use context clues to determine the meaning of new vocabulary.

	GLI:                  AV 3.1
	Determine the meaning of unknown words using a variety of context clues, including word, sentence and paragraph clues.


Multiple-Choice Question:

31. This sentence is from the selection. 

“Some smells are sweet . . .” 


Which word is an opposite of sweet?

A. sour

B. clean

C. old

Commentary:

This multiple-choice question asks students to use the context of a sentence to determine the meaning of a word. Once the students have determined the meaning, they are to select the answer choice that has the opposite meaning. Answer choice A is correct. Sweet most often means having or suggesting the taste of sugar. Sour means exactly the opposite. Answer choice B is incorrect. The opposite of clean would be dirty, not sweet. Answer choice C is also incorrect. The opposite of old would be new.

Performance Data: 

The percent of public school students selecting answer choice A for question 31 on the October 2004 Grade 3 Reading Achievement Test was 72%.

Keywords:  context clues

BACK TO INDEX
	Benchmark:     E
	Evaluate two- and three-step directions for proper sequencing and completeness.

	GLI:                                 IT 3.5
	Analyze a set of directions for proper sequencing, clarity and completeness. 


Short-Answer Question:

	32. Number the steps of the smelling process in the order that they happen.

___ 
Particles go into the nose.


___ 
Messages go to the brain.


_1_ 
Smell particles float in the air.


___ 
Particles cling to the sticky mucus.
	


Commentary:

This short-answer question requires students to understand the sequence of certain events or processes found in the selection.

	Points
	Student Response

	2
	Response correctly orders all the events.

Example: 2, 4, 1, 3

	1
	Response correctly orders at least two events.

Example: 1, 4, 2, 3

	0
	Response is incorrect or irrelevant. 


Performance Data: 

The percent of public school students at each score point for question 32 on the October 2004 Grade 3 Reading Achievement Test was

	Performance at Each Score Point

0


1


2

13%


32%


52%


Keywords:  two and three step directions, sequencing

BACK TO INDEX
	Benchmark:     C
	Identify the central ideas and supporting details of informational text.

	GLI:                          IT 3.3
	Identify and list the important central ideas and supporting details of informational text. 


Multiple-Choice Question:

	33. Sometimes you can tell that something will taste bad before you taste it.


Which detail from the reading selection might explain the reason for this?

A. Smells are made of tiny particles that float in the air.

B. Taste and smell work together as special partners.

C. Sometimes you can smell something that you cannot see.




Commentary:

This multiple-choice question asks students to recall information about one of the central ideas of this selection, how smell impacts taste. The second sentence in the fifth paragraph reads, “When you smell something, it helps you to figure out what the taste will be like.” Answer choice A is incorrect. While it is true that smells are made of fine particles, this is not what helps one to know about taste. Answer choice B is correct and is clearly stated in the first sentence of the indicated paragraph. Answer choice C is also incorrect. Whether an item can be seen or not does not impact how smell informs taste.

Performance Data: 

The percent of public school students selecting answer choice B for question 33 on the October 2004 Grade 3 Reading Achievement Test was 42%.

Keywords:  central idea, supporting details

BACK TO INDEX
	Benchmark:     E
	Demonstrate comprehension by responding to questions (e.g., literal, informational and evaluative).

	GLI:                               RP 3.7
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple-Choice Question:

34. How do smell and taste work together when you eat a piece of cake?
A. Tasting cake helps you eat it.
B. Smelling caked helps you taste it.
C. Eating cake helps you smell it.
Commentary:
This multiple-choice question asks students to answer a literal question based on information they have read. In this case students are to determine how smell and taste work together. The selection clearly gives the following information: “When you smell something, it helps you to figure out what the taste will be like.” Answer choice A is incorrect. It does not give information about the relationship between taste and smell. Answer choice B is correct. Smell is an important part of being able to taste. Answer choice C is incorrect. It reverses the smell/taste relationship.

Performance Data:

The percent of public schools students selecting answer choice B for question 34 on the October 2004 Grade 3 Reading Achievement Test was 57%.

Keywords:  draw conclusions

BACK TO INDEX
	Benchmark:     B
	Ask clarifying questions concerning essential elements of informational text.

	GLI:                                          IT 3.2
	List questions about essential elements (e.g., why, who, where, what, when and how) from informational text and identify answers. 


Multiple Choice Question:

35. This is a paragraph from the selection.

     “Some animals are really good at smelling. Dogs can find things just by smelling the scent that is left behind where something or someone has been. This is why dogs are often used to help find missing people.”

Which question does the paragraph answer?

A. How can dogs help the police?

B. How can dogs help blind people?

C. How can dogs pull heavy sleds?

Commentary:

This multiple choice question asks students to read an excerpt from the selection and determine which of the questions is answered within that excerpt. Answer choice A is correct. This answer choice talks about a dog’s keen sense of smell and how it is an asset to police work. Answer choice B is incorrect. While dogs to provide service for the disabled that is not what is addressed in the excerpt. Answer choice C is also incorrect. This question addresses the strength of a dog, not the keen sense of smell described in the excerpt.

Performance Data:

The percent of public school students selecting Answer choice A for question 35 on the October 2004 Grade 3 Reading Achievement Test was 67%.

Keyword:  Clarifying Questions, Essential Elements

BACK TO INDEX
	Benchmark:     E
	Demonstrate comprehension by responding to questions (e.g., literal, informational and evaluative).

	GLI:                               RP 3.7
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Short-Answer Question:

36. Use information from the reading selection to complete the sentence.

Smells can warn you of dangers such as ____________________ or ___________________.

Commentary:
This short-answer question asks students to answer a literal question about the selection. Students are to fill in the blanks with information about the kinds of smells that warn people of danger.

	Points
	Student Response

	2
	Response correctly completes both blanks.

Example: gas; things burning

	1
	Response correctly completes one blank.

Example: gases

	0
	Response is incorrect or irrelevant. 


Performance Data:

The percent of public school students at each score point for question 36 on the October 2004 Grade 3 Reading Achievement Test was

	Performance at Each Score Point

0


1


2

41%


23%


32%


Keywords:  literal questions, comprehension

BACK TO INDEX
Passage:

Monkey Business

by Judy Ling

Monkey Homes

Monkeys come in all shapes, sizes, and colors. There are nearly 200 different kinds of monkeys, and they live in many of the world’s forests and grasslands. Most monkeys spend their entire lives up in the trees. They have long arms and are good at climbing. They can leap from tree to tree, high above the ground. Other monkeys, such as baboons, live on the ground. They walk around on their hands and feet.

Monkey Bodies

Monkeys’ fingers and toes are long and strong, which help them grip branches as they climb. They use their fingers to hold food as they eat. Monkeys’ feet look a lot like their hands, and their big toes are often just like thumbs. Most monkeys have long tails. Their tails help them balance. Some monkeys, such as spider monkeys and woolly monkeys, can use their tails to swing from tree to tree. Monkeys are intelligent animals. Their eyes face forward, and most have good eyesight. They can hear well, too.

Monkey Meals

Monkeys spend a lot of time looking for food. Most monkeys eat almost anything: leaves, grass, fruit, nuts, birds, frogs, and other small animals. Some monkeys even fish for crabs.

Monkey Families

All monkeys live in groups. Some monkeys live in small family groups. Some monkeys live in large groups called troops. While resting, monkeys groom each other. Grooming is one way that monkeys care for each other.

Monkey Talk

If you were to visit a rain forest, you would hear “monkey talk.” Monkeys call to each other to keep in touch with their group. They call to warn each other of intruders or predators. Monkeys communicate by making sounds, clapping their hands, and jumping up and down.

Reprinted by permission of Wright Group/McGraw-Hill, 19201 120th Avenue NE, Bothell, WA 98011 1-800-523-2371. Artwork: property of Ohio Department of Education.

BACK TO INDEX
	Benchmark:     B
	Ask clarifying questions concerning essential elements of informational text.

	GLI:                                          IT 3.2
	List questions about essential elements (e.g., why, who, where, what, when and how) from informational text and identify answers. 


Multiple Choice Question:

27. These sentences are from the selection.

“All monkeys live in groups. Some monkeys live in small family groups. Some monkeys live in large groups called troops.”

Which question do these sentences answer?

A. Why do monkeys like living in groups?

B. How do monkeys choose their groups?

C. What kinds of groups do monkeys live in?

Commentary:

This multiple choice question asks students to identify one question from the choices listed that can be answered by the sentences from the selection. When students identify or ask of the text. Answer choice A is incorrect because the sentences from the selection do not discuss the emotions or reactions of the monkeys when they are in their groups. Answer choice B is also incorrect; there is no mention of the ways the monkeys choose groups in the selected sentences. Answer choice C is correct. These sentences identify two types, small family groups and large groups called troops.

Performance Data:
The percent of public school students selecting answer choice C for question 27 no the March 2005 Grade 3 Reading Achievement Test was 70%

Keywords:  clarifying questions, essential elements

BACK TO INDEX
	Benchmark:     E
	Demonstrate comprehension by responding to questions (e.g., literal, inferential and evaluative).

	GLI:                               RP 3.7
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Short Answer Question:

28.    Use details from the reading selection to complete the sentences.

         Most monkeys live in 


         Other monkeys, such as baboons, live on 


Commentary:

This constructed response question asks students to provide literal information from the selection. Being able to locate specific information after reading a selection is a critical skill in a student’s reading development. This information search is the foundation for the types of research work students are expected to do at higher grade levels. 

	Points
	Student Response

	2
	Response correctly completes both blanks

Example: trees; the ground

	1
	Response correctly completes one blank.

Examples: trees

	0
	Response is incorrect or irrelevant


Performance Data:
The percent of public school students at each score point on the March 2005 Grade 3 Reading Achievement Test was:

	Performance at Each Score Point


0


1


2


13%


32%


54%


Keywords:  literal questions; comprehension
BACK TO INDEX
	Benchmark:     A
	Establish a purpose for reading and use a range of reading comprehension strategies to understand literary passages and text.

	GLI:                       RP 3.6
	Create and use graphic organizers, such as Venn diagrams and webs, to demonstrate comprehension.


Multiple Choice Question:

29.   Choose the fact about monkey bodies that completes the web below.




Long, strong





Big toes like



    fingers





     thumbs








Monkey Bodies







        Long tails

A. long, floppy ears

B. eyes that face forward

C. short arms

Commentary:

This multiple choice question asks the students to use a graphic organizer or web as a comprehension tool. Students are to focus on the topic in the center bubble and provide details about that topic in the surrounding bubbles. Answer choice A is incorrect. There is no mention of long floppy ears. In addition, the illustration shows that the ears are short and close to the head. Answer choice B is correct. The selection says,”Their eyes face forward, and most have good eyesight.” Answer choice C is incorrect. There is no mention of arm length in the selection.

Performance Data:
The percent of public school students selecting answer choice B for question 29 on the March 2005 Grade 3 Reading Achievement Test was 79%.

Keywords:  comprehension strategies, webs

BACK TO INDEX
	Benchmark:     E
	Demonstrate comprehension by responding to questions (e.g. literal, inferential and evaluative).

	GLI:                               RP 3.7
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple Choice Question:

30. Monkeys use their tails to 

A. find food on the ground

B. groom other monkeys

C. balance in the trees

Commentary:

This multiple choice question asks students to answer a literal question about information in the selection. Careful readers have located this information in the fourth and sixth sentence of the 2nd paragraph. “Most monkeys have long tails. Their tails help them balance. Some monkeys, such as spider monkeys and woolly monkeys, can use their tails to swing from tree to tree.”  Answer choice A is incorrect. Most monkeys use “their fingers to hold food as they eat.” Answer choice B is incorrect. There is no indication what body part is used in the grooming process. Answer choice C is correct. Monkeys use their tails to swing from tree to tree and as well as to help with balance.

Performance Data:
The percent of public school students selecting answer choice C for question 30 on the March 2005 Grade 3 Reading Achievement Test was 89%

Keywords:  literal questions, comprehension

BACK TO INDEX
	Benchmark:     A
	Use text features and structures to organize content, draw conclusions and build text knowledge.

	GLI:                           IT  3.1
	Use the table of contents, chapter headings, glossary, index, captions and illustrations to locate information and comprehend texts.


Short Answer Question:

31. This paragraph is from the reading selection.

     “If you were to visit a rain forest, you would hear ‘monkey talk.’ Monkeys call to each other to keep in touch with their group. They call to warn each other of intruders or predators. Monkeys communicate by making sounds, clapping their hands, and jumping up and down.”

The heading of this section is Monkey Talk. Give two reasons why the author used this heading.


A.



B.

Commentary:

This constructed response question asks students to use a section heading to find information. In nonfiction texts Grade 3 students are taught to use text features including chapter titles, section titles, captions and table of contents. As children move into more and more sophisticated nonfiction texts, being able to use text features will help them as they search for information and do classroom research.

	Points
	Student Response

	2
	Response correctly completes both blanks

Example:

1. the section is about the way monkeys communicate.

2. The section describes Monkey Talk.

	1
	Response correctly completes one blank.

Example:

     1. The section is about Monkey Talk.

	0
	Response is incorrect or irrelevant


Performance Data:
The percent of public school students at each score point for question 31 on the October 2004 Grade 3 Reading Achievement Test was:

	Performance at Each Score Point


0

1

2


23%

40%

35%



Keywords:  text features, build text knowledge

BACK TO INDEX
	Benchmark:     B
	Ask clarifying questions concerning essential elements of informational text.

	GLI:                                          IT 3.2
	List questions about essential elements (e.g., why, who, where, what, when and how) from informational text and identify answers. 


Multiple Choice Question:

32.    An important idea from the reading selection is that monkeys “talk” to each other.

What detail from the selection supports this idea?

A. Most monkeys eat almost anything at all.

B. Monkeys can hear and see very well.

C. Monkeys communicate by making sounds.

Commentary:

This multiple choice question asks students to determine central/main ideas and state details that support that information. Throughout their academic career students will be asked to find important ideas and include support. As they become more sophisticated and the texts more complex students will write persuasive documents that must include support for each of the points given. Answer choice A is incorrect. The idea that monkeys eat almost everything is a fact, but it is not support for their ability to communicate. Answer choice B is also incorrect. Monkeys do have excellent vision and hearing, but neither is relevant when examining the methods monkey’s use to talk with each other. Answer choice C is correct. Talking is a form of communication, monkeys make special sounds that scientists call talk.

Performance Data:
The percent of public school students selecting answer choice C for question 32 on the March 2005 Grade 3 Reading Achievement Test was 85%.

Keywords:  central ideas, main ideas, supporting details

BACK TO INDEX
	Benchmark:     D
	Know the meaning of specialized vocabulary by applying knowledge of word parts, relationships and meaning.

	GLI:                  AV 3.3
	Apply the meaning of the terms synonyms and antonyms.


Multiple Choice Question:

33.    This sentence is from the selection.

“They can leap from tree to tree….”

What word means the same as leap?


A. jump

B. drop

C. walk

Commentary:

This multiple choice question asks students to use the context of the sentence to determine a word meaning. In this case students are asked to use that knowledge to find a word with a similar meaning. Answer choice A is correct because jump is a synonym for leap. Answer choice B is incorrect. The monkeys are moving from tree to tree, if they were to drop they would be moving from tree to ground. Answer choice C is incorrect. To leap means to spring or bound, this is not the movement that most closely matches walk. 

Performance Data:
The percent of public school students selecting answer choice A for question 33 on the March 2005 Grade 3 Reading Achievement Test was 96%.

Keywords:  context clues, vocabulary

BACK TO INDEX
Passage:
Thomas Edison

by John Kennedy

Thomas Edison was born in 1847 in Milan, Ohio. As a child, Thomas was curious about many things. He always wondered how things worked. When he was 10 years old, Thomas set up a laboratory in his basement so he could do science experiments.

Thomas had his first job when he was 12 years old. He rode the train and sold newspapers and candy to the passengers. One day at work, Thomas saved a little boy from being run over by a train. To reward Thomas, the little boy’s father taught him how to use the telegraph machine. 
The telegraph sent messages to other towns over electric wires. The machine made clicking sounds in Morse code.

This special code used dots and dashes that stood for the letters of the alphabet. In 1863, Thomas Edison got a job as a telegraph operator. During his free time, Thomas kept doing experiments. 

In 1868, Thomas received his first patent. It was for an electric voting machine. A patent is a special paper that proves that the invention is the inventor’s and no one else’s. Though Thomas did not make much money from the voting machine, he decided to work on making more things that were useful.

Thomas Edison moved to New Jersey and started his own business, making and selling his inventions. He also got married. He nicknamed his first child “Dot” and his second child “Dash” after the signals used to send telegraph messages.

In 1877 Thomas found a way to save sounds and replay them. He called this invention a

phonograph. Thomas Edison spoke into the phonograph. When he replayed it, Thomas heard his own voice saying the nursery rhyme “Mary Had A Little Lamb.” He was the first person to have his voice recorded! Today’s tape recorders and CDs came from his invention.

Thomas Edison’s most famous invention was the electric light bulb. In the 1870s, lights inside homes came from candles, oil lamps, or gas lights. The lights were dim and often caused fires. Thomas wanted to make a bright light that was safe to use indoors.

His idea was to use electricity to heat a thin strip of material inside a glass bulb. The material had to glow but not melt or break when it got hot. Thomas experimented for more than a year to find the right material. In 1879, he finally tried a piece of baked cotton thread. When electricity passed through the glass bulb, the thread inside glowed for 13 hours!

Other important machines Thomas Edison invented were: a movie projector, a movie camera, a cement mixer, and a copy machine. During his lifetime, Thomas Edison received 1,093 patents for his inventions. His inventions changed the world.

BACK TO INDEX
	Benchmark:     C
	Draw conclusions from information in text.

	GLI:                        RP 3.5
	Make inferences regarding events and possible outcomes from information in text.


Multiple Choice Question:

34. Why did Thomas Edison invent the phonograph?

A. He wanted to make something he could get a patent for.

B. He wanted to save sounds and replay them.

C. He wanted to send messages to other towns over electric wires.

Commentary:

This multiple choice question asks students to draw a conclusion based on information presented in the text. In this instance, students are asked to use information about Thomas Edison to determine why he chose to invent the phonograph. Answer choice A is incorrect. By the time Edison invented the phonograph, he already owned a patent for the electric voting machines. He had also made and sold other things prior to inventing the phonograph. Answer choice B is correct. The selection tells the reader that Thomas heard his own voice singing ‘Mary Had a Little Lamb’ when he completed his work on the machine. Answer choice C is incorrect. He was trained as a telegraph operator early in his work career; this answer choice describes what his purpose was in using the telegraph machine.

Performance Data:
The percent of public school students selecting answer choice B for question 34 on the March 2005 Grade 3 Reading Achievement Test was 55%.

Keywords:  draw conclusions; informational text

BACK TO INDEX
	Benchmark:     E
	Demonstrate comprehension by responding to questions (e.g., literal, inferential and evaluative).

	GLI:                               RP 3.7
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple Choice Question:

35.   Where was Thomas Edison born?

A. Michigan

B. New Jersey

C. Ohio

Commentary:

This multiple choice question asks students to find the answer to a literal question within a previously read text. In this instance students are to select the state of Edison’s birth. Two of the states the students are asked to choose from are actually in the selection. Answer choice A is incorrect. The state of Michigan is not mentioned in the selection. Answer choice B is incorrect. Edison lived in New Jersey after working as a telegraph operator and inventing the electric voting machine. Answer choice C is correct. The selection states in the first sentence of the selection, “Thomas Edison was born in 1847 in Milan, Ohio.

Performance Data:
The percent of public school students selecting answer choice C for question 35 on the October 2004 Grade 3 Reading Achievement Test was 86%.

Keywords:  literal question, comprehension

BACK TO INDEX
	Benchmark:     E
	Demonstrate comprehension by responding to questions (e.g., literal, inferential and evaluative).

	GLI:                               RP 3.7
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Short Answer Question:

36. 
Fill in the blanks with words from the selection.

When Thomas was 12 years old, his job was to ride a _____________________ and sell _______________________ to the passengers.

Commentary:

This constructed response question asks students to answer a literal question using their knowledge of the selection. The sentence they are to complete is not a direct quote from the selection however; the careful reader can find the answers in the first two sentences of paragraph 2. In this case they are to supply specific words that will complete the sentence in question 36.

	Points
	Student Response

	2
	Response correctly completes both blanks.

Example: train; newspapers and candy

	1
	Response correctly completes one blank

Example: train

	0
	Response is incorrect or irrelevant


Performance Data:
The percent of public school students at each score point on the October 2004 Grade 3 Reading Achievement Test was:

	Performance at Each Score Point


0


1


2


7%


8%


83%


Keywords:  literal question, comprehension

BACK TO INDEX
	Benchmark:     B
	Ask clarifying questions concerning essential elements of informational text.

	GLI:                                          IT 3.2
	List questions about essential elements (e.g., why, who, where, what, when and how) from informational text and identify answers. 


Multiple Choice Question:

37.    These sentences are from the selection.

“Other important machines Thomas Edison invented were: a movie projector, a movie camera, a cement mixer, and a copy machine. During his lifetime, Thomas Edison received 1,093 patents for his inventions His inventions changed the world.”

What question is answered in this paragraph?

A. How many copy machines did Thomas Edison make?

B. What invention was Thomas Edison proudest of?

C. What important machines did Thomas Edison invent?

Commentary:

This multiple choice item asks students to read an excerpt from the selection, understand the content and determine which question can be answered by the information in the excerpt. Students ask text specific questions of their peers and of their teachers. They also choose questions that are reflective of specific information in a selected excerpt of reading selections.  Answer choice A is incorrect. While the selection mentions that Edison invented the copy machine, it does not indicate that he invented more than one. Answer choice B is also incorrect. These sentences from the selection essentially list the inventions that were not covered in depth within the selection. Answer choice C is correct. The selection talks about several in depth however; it also notes the many others that could be credited to Edison.

Performance Data:
The number of public school students selecting answer choice C for question 37 on the March 2005 Reading Achievement Test was 71%.

Keywords:  clarifying questions

BACK TO INDEX
	Benchmark:     E
	Demonstrate comprehension by responding to questions (e.g., literal, inferential and evaluative).

	GLI:                               RP 3.7
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple Choice Question:

38.   What reward did Thomas get for saving a boy from being run over by a train?

A. A man taught him to use the telegraph machine.

B. A man let him sell papers to passengers on a train.

C. A man helped him build a laboratory.

Commentary:

This multiple choice question asks students to use information from the selection to answer a literal question. In the second paragraph of the selection student read this statement, “One day at work, Thomas saved a little boy from being run over by a train. To reward Thomas, the little boy’s father taught him how to use the telegraph machine.”  Answer choice A is correct. The selection says a father taught him to use the telegraph. Answer choice B is incorrect. Thomas did sell papers and candy, but that happened prior to him saving the little boy. Answer choice C is also incorrect. Thomas set up his own laboratory when he was 10 years old. But his reward was not getting help to build a vocabulary.

Performance Data:
The percent of public school students selecting answer choice A for question 38 on the March 2005 Grade 3 Reading Achievement Test was 76%.

Keywords:  literal question, comprehension

BACK TO INDEX
	Benchmark:     A
	Use text features and structures to organize content, draw conclusions and build text knowledge.

	GLI:                  AV 3.1
	Determine the meaning of unknown words using a variety of context clues, including word, sentence and paragraph clues.


Multiple Choice Question:

39.
This sentence is from the selection.


“Thomas set up a laboratory in his basement so he could do science experiments.”


What does laboratory mean in the sentence?

A. a place where children can play and have fun

B. a place to build things and do experiments

C. a place to keep books and read newspapers

Commentary:

This multiple choice question asks students to use a text feature, in this case a word bank, to determine the meaning of a word. At the third grade level many texts that students read have a word bank at the end. The purpose of these banks is to list and define words that may be above the independent reading level of the average third grade reader. They are modeled after the glossaries found in information texts used at 3rd grade. This gives students the opportunity to read more complex texts without difficulty. Answer choice A is incorrect. In the word bank students find that a laboratory is, “a place where people do experiments and lean about science.” Answer choice B is correct. Thomas used his laboratories to create, build and experiment with his new inventions. Answer choice C is incorrect. Choosing this answer would indicate the students may have misread the word laboratory for library.

Performance Data:
The percent of public school students selecting answer choice B for question 39 on the March 2005 Grade 3 Reading Achievement Test was 88%.

Keywords:  text feature, word bank

BACK TO INDEX
	Benchmark:     RP-A

IT-C
	Establish a purpose for reading and use a range of reading comprehension strategies to understand literary passages and text.
Identify the central ideas and supporting details of informational text.



	GLI:                     RP 3.6

IT 3.3
	Create and use graphic organizers, such as Venn diagrams and webs, to demonstrate comprehension.
Identify and list the important central ideas and supporting details of informational text.




Extended Response Question:

40. Use details from the reading selection to complete the web.






Commentary:

This Extended Response Question asks students to take a central idea and find specific details from the selection about that idea. In this case students are to find details about Thomas Edison’s invention of the light bulb to complete this web. 

	Points
	Student Response

	4
	Response correctly identifies four facts.

Example:


	3
	Response correctly identifies three facts.

Example:




	2
	Response correctly identifies two facts.

Example:



	1
	Response correctly identifies one fact.
Example:




	0
	Response is incorrect or irrelevant.


Performance Data:
The percent of public school students at each score point for question 40 on the March 2005 Grade 3 Reading Achievement test was:

	Performance at Each Score Point


0

1

2

3

4


29%

13%

12%

14%

29%


Keywords:  central idea, supporting details, web

BACK TO INDEX
	Benchmark:     A
	Use context clues to determine the meaning of new vocabulary.

	GLI:                  AV 3.1
	Determine the meaning of unknown words using a variety of context clues, including word, sentence and paragraph clues.


Multiple Choice Question:

41.   These sentences are from the selection.

“In 1868, Thomas received his first patent. It was for an electric voting machine. A patent is a special paper that proves that the invention is the inventor’s and no one else’s.

A patent tells people that

A. an invention belongs to you.

B. they can copy your invention.

C. other can use your invention.

Commentary:

This multiple choice question asks students to use context clues to determine the meaning of the word patent. A correct answer shows an understanding of the content and structure of the selection excerpt. Answer choice A is correct. In the sentences the phrase “proves the invention is the inventor’s” parallels the phrase given for choice A. Answer choice B is incorrect. The sentences from the selection clearly state that the invention belongs to the inventor and no one else. Answer choice C is incorrect. A patent does not define who can use an invention.

Performance Data:
The percent of public school students selecting answer choice A for question 41 on the March 2005 Grade 3 Reading Achievement Test was 61%.

Keywords:  context clues, vocabulary
BACK TO INDEX
	Benchmark:     C
	Identify the central ideas and supporting details of informational text.

	GLI:                          IT 3.3
	Identify and list the important central ideas and supporting details of informational text. 


Multiple Choice Question:

42.    These sentences are from the selection.

“Thomas experimented for more than a year to find the right material. In 1879, he finally tried a piece of baked cotton thread. When electricity passed through the glass bulb, the thread inside glowed for 13 hours!”

   What topic heading should be used for this part of the selection?

A. Invention of the Telegraph Machine

B. Invention of the Cement Mixer

C. Invention of the Light Bulb

Commentary:

This multiple choice question asks students to read all of the details in the sentences presented and use them to determine a good section heading. This is a critical skill for students as they begin to work on developing an understanding of central and main idea. Answer choice A is incorrect. While the telegraph machine is mentioned in the reading selection, it is not a part of this section. Answer choice B is incorrect. Edison did invent the cement mixer, but that is not presented in the details of this section. Answer choice C is correct. These sentences discuss the ways Edison experimented with and finally created a working light bulb.

Performance Data:
The percent of public school students selecting answer choice C for question 42 on the March 2005 Grade 3 Reading achievement Test was 83%.

Keywords:  central idea, main idea, supporting details

BACK TO INDEX
Passage:

Earthworms

Elizabeth Shepherd

Earthworms are long and cool and slimy. They go over the ground by night, under the ground by day. They eat their way along. In go bits of seeds, stems, leaves, and soil. Out come coils of leftovers.

To crawl about, an earthworm stretches out long and thin. Then it pulls up short. Tiny bristles (BRISS • ILS) on each body ring keep it from slipping back. The bristles are hard to see, but you can feel them. Just slide the worm over your hand.

Be very gentle or the worm may break. If it does break, lay the front end down carefully. This end can grow new rings and become a whole worm again. The back part cannot do so.

This may seem odd, because the front part looks dead and the back part is wiggling. The same thing happens when a bird catches a worm. The bird eats the wiggling part. The front end can crawl safely away.

In winter earthworms stay deep underground, often curled up with other earthworms. They do the same if the summer is hot and dry. Cool spring and fall days are best for finding earthworms. They may even stick their head ends or their hind ends out of their tunnels into the air. (They jerk them in quickly when they feel you coming.)

Sometimes you may find many earthworms together in a pile of wet leaves. When you do, you may also find their egg cases. The gray-brown cases look like pale seeds against the dark leaves. About the size of this O, each case holds many eggs.

Put a few cases aside in a jar of damp soil under some leaves. In a few days the eggs will hatch, and tiny earthworms will crawl out of the cases. When you let them go, it may take them awhile to crawl out of sight.
BACK TO INDEX
	Benchmark:     E
	Demonstrate comprehension by responding to questions (e.g., literal, inferential and evaluative).

	GLI:                               RP 3.7
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple Choice Question:
30.  What does a worm eat?

A. soil

B. insects

C. worms

Commentary:
This multiple choice item asks students to answer a literal question. Literal questions are those that have answers directly found in the text. Answer choice A is correct. The selection states, “They eat their way along. In go bits of seeds, stems, leaves, and soil”. Answer choice B is incorrect. There is no information in the passage that would suggest worms eat insects. Answer choice C is incorrect. Worms go searching for each other often to huddle together to keep warm  or to lay their eggs.

Performance Data:
The percent of public school students selecting answer choice A for question 30 on the October 2005 Ohio Grade 3 Reading Achievement Test was 87%.
Keywords:  literal questions, comprehension

BACK TO INDEX
	Benchmark:     C
	Identify the central ideas and supporting details of informational text.

	GLI:                          IT 3.3
	Identify and list the important central ideas and supporting details of informational text. 


Short Answer Question:
31.  What are two central ideas from the reading selection?

A. How worms _______________________________________________________

B. How worms _______________________________________________________ 

Commentary:
This short answer question asks students to identify central ideas that are located in the reading selection. A central idea is to informational text what a main idea is to literary text. It is a concept that is broad enough to cover the entire scope of the work.

Performance Data:
The percent of public school students at each score point question 31 on the October 2005 Ohio Grade 3 Reading Achievement Test was 
	Performance at Each Score Point

	0
	1
	2

	61%
	31%
	5%


Scoring Guidelines

	Points
	Student Responses

	2
	Response correctly completes both blanks.

Example:

1 feel and move.

2 protect themselves

	1
	Response correctly completes one blank

1 feel

2 ----

	0
	Response is incorrect or irrelevant.


Keywords:  central idea

BACK TO INDEX
	Benchmark:     A
	Use context clues to determine the meaning of new vocabulary.

	GLI:                  AV 3.1
	Determine the meaning of unknown words using a variety of context clues, including word, sentence and paragraph clues.


Multiple Choice Question:
32.  The following sentence is from the selection.

“This may seem odd, because the front part looks dead and the back part is wiggling.”

What does wiggling mean?

A. lying still

B. moving around

C. curled up

Commentary:
This multiple choice question asks students to use the context of the sentence to help define a word in that sentence. Answer choice A is incorrect. The word wiggling is used as a contrast to looking dead, or lying still. Answer choice B is correct. The structure of the sentence indicates that there is a difference, or opposite, when comparing the front of the worm to the back of the worm. Because the initial phrase includes ‘looks dead’, moving around or wiggling is the appropriate meaning for the last phrase. Answer choice C is incorrect. The worm could be curled up and still look dead, this is not presented as an accurate contrast.

Performance Data:
The percent of public school students selecting answer choice B for question 32 on the October 2005 Ohio Grade 3 Reading Achievement Test was 91%.
Keyword:  context clue, word meaning

BACK TO INDEX
	Benchmark:     E
	Demonstrate comprehension by responding to questions (e.g. literal, inferential and evaluative.)

	GLI:                                                RP 3.7
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple Choice Question:
33. Worms come out when it is dark.

Which detail from the reading selection supports this idea?

A. The back part is wiggly if it breaks into two pieces.

B. They go over the ground by night, under the ground by day.

C. They gray-brown egg cases look like pale seeds against the leaves.

Commentary:
This multiple choice question asks students to answer a literal question. The answer to this type of question is directly stated in the text. Answer choice A is incorrect. The statement is true of earthworms however; it does not support what happens when it gets dark. Answer choice B is correct. This statement differentiates what an earthworm does during the day and after dark (at night). Answer choice C is incorrect. The statement is a fact but does not support the sentence given.

Performance Data:
The percent of public school students selecting answer choice B for question 33 on the October 2005 Ohio Grade 3 Reading Achievement Test was 76%.
Keywords:  literal question, comprehension
BACK TO INDEX
	Benchmark:     B
	Ask clarifying questions concerning essential elements of informational text.

	GLI:                                          IT 3.2
	List questions about essential elements (e.g., why, who, where, what, when and how) from informational text and identify answers. 


Multiple Choice Question:
34.  This paragraph is from the selection.

“In winter earthworms stay deep underground, often curled up with other earthworms. They do the same if the summer is hot and dry. Cool spring and fall days are best for finding earthworms. They may even stick their head ends or their hind ends out of their tunnels into the air. (They jerk them in quickly when they feel you coming.)”

Which question is answered by this paragraph?

A. Where are worms during the hot summer?

B. What do worms like to eat during the spring?

C. How do worms feel people coming near them?

Commentary:
This multiple choice question asks the students to read a paragraph from the selection and determine which of the clarifying questions is answered in that paragraph. Answer choice A is correct. The paragraph states that earthworms stay underground when the summer weather is hot and dry. This lets the reader know that earthworms prefer the cool, wet temperatures of spring and fall. Answer choice B is incorrect. There is no mention in this paragraph of what earthworms prefer to eat. Answer choice C is incorrect. The paragraph states what earthworms do when they feel a person coming, but does not explain how they feel them.

Performance Data:
The percent of public school students selecting answer choice A for question 34 on the October 2005 Ohio Grade 3 Reading Achievement Test was 46%.
Keyword:  clarifying questions

BACK TO INDEX
	Benchmark:     B
	Ask clarifying questions concerning essential elements of informational text.

	GLI:                                          IT 3.2
	List questions about essential elements (e.g., why, who, where, what, when and how) from informational text and identify answers. 


Multiple Choice Question:
35.  This paragraph is from the selection.

“Sometimes you may find many earthworms together in a pile of wet leaves. When you do, you may also find their egg cases. The gray-brown cases look like pale seeds against the dark leaves. About the size of this O, each case holds many eggs.”

Which question about earthworm eggs does this paragraph answer?

A. When do earthworms lay their eggs?

B. How many eggs do earthworms lay?

C. What do earthworm egg cases look like?

Commentary:
This multiple choice question asks students to read the given paragraph and select the clarifying question that is answered in that paragraph. Being able to ask and answer clarifying questions is a critical skill for full comprehension of the essential elements of informational text. Answer choice A is incorrect. The paragraph mentions that the earthworms may be in a pile of wet leaves, but that is only after the eggs are laid. There is no indication or further discussion of where the earthworm lays eggs. Answer choice B is incorrect. The end of the paragraph indicates that a single egg case holds many eggs. This does not let the reader know how many it lays; the paragraph just gives a generalization. Answer choice C is correct. In this paragraph can be found a description of egg cases including the fact they are gray-brown and look like seeds against dark leaves.

Performance Data:
The percent of public school students selecting answer choice C for question 35 on the October 2005 Ohio Grade 3 Reading Achievement Test was 62%.

Keywords:  clarifying questions
BACK TO INDEX
	Benchmark:     E
	Demonstrate comprehension by responding to questions (e.g., literal, informational and evaluative).

	GLI:                               RP 3.7
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Short Answer Question:
36.  Complete the worm egg-hatching chart below.

Worm Egg-Hatching Chart

	Steps
	Description

	First
	Find some worm egg cases in a pile of wet leaves.



	Second
	

	Third
	The eggs hatch.



	Fourth
	


Commentary:
This short answer question asks students to use summary information to complete the chart. A summary is a brief statement that contains the essential ideas of a longer passage or text. These ideas are presented in sequential order.

Performance Data:
The percent of public school students at each score point  for question 36 on the October 2005 Ohio Grade 3 Reading Achievement Test was:

	Performance at Each Score Point

	0
	1
	2

	53%
	29%
	13%


Scoring Guidelines
	Points
	Student Response

	2
	Response correctly completes both blanks.

Example:

Steps

Description

First

Find some worm egg cases in a pile of wet leaves.

Second

put the cases in a jar under leaves


Third

The eggs hatch.

Fourth

let the worms go




	1
	Response correctly completes one blank.

Example:

Steps

Description

First

Find some worm egg cases in a pile of wet leaves.

Second

put the cases in a jar under leaves

Third

The eggs hatch.

Fourth



	0
	Response is incorrect or irrelevant


Keyword: summary
BACK TO INDEX
Passage:
Skunks 
An Unpopular Animal 

Why do people dislike skunks? Skunks are beautiful animals. They have glossy black-and-white fur coats. They have big, bushy tails. They rarely eat farm animals. And they don’t destroy property.

But most people don’t like skunks. Why?

Skunks have a powerful weapon. They give off a terrible smell!

When a skunk is angry or afraid, it can release a spray of terrible-smelling liquid called musk. The musk comes from two glands near the base of the skunk’s tail. This powerful odor can be smelled almost 1 mile (1.6 kilometers) away. It can last for days on whatever has been sprayed.

There are four kinds of skunks. They are found only in the Western Hemisphere.

The striped skunk lives throughout the United States and in southern Canada. It is the most common skunk in the United States.

A narrow white stripe runs down the middle of its face. The back of its head is white, and two white stripes form a V shape down its back.

Striped skunks grow about as big as a cat—from 13 to 18 inches (33 to 46 centimeters) long. The tail adds another 7 to 10 inches (18 to 25 centimeters).

The striped skunk’s scientific name is Mephitis mephitis (me-fi-tis), which means “terrible smell” and says it not once but twice.

The spotted skunk lives in the western United States and Mexico. It has spots of white fur all over its body. Spotted skunks are smaller than striped skunks.

Hog-nosed skunks are found from the southwestern United States to the tip of South America. Their broad, hairless nose looks a little like a pig’s snout. 

The hooded skunk is found in a small area of the southwestern United States and in Central America. It has long hair around its neck.

Sharp Claws, Short Legs 

A skunk has five toes on each foot. Each toe on the front feet has a sharp, curved claw, used for digging. The claws on the hind feet are also sharp.

Skunks have short legs, so they can’t run very fast. They can run at about 9 miles (14 kilometers) an hour for short distances. But usually they walk slowly. They stop often to dig for worms or grubs with their sharp-clawed front feet.

Seeing, Smelling, and Hearing 

Skunks are nocturnal animals. This means they are usually active at night. During the day they sleep in their dens.

Skunks can see quite well close up, even at night. But they cannot see well at distances beyond 20 feet (6 meters). 

They use their keen senses of smell and hearing to find worms and grubs under the ground. Their sharp hearing also helps warn them of danger.

Skunks make a variety of sounds. They squeak, hiss, screech, and coo. When hunting for food, they make a soft snuffing noise.

BACK TO INDEX
	Benchmark:     C
	Identify the central ideas and supporting details of informational text.

	GLI:                          IT 3.3
	Identify and list the important central ideas and supporting details of informational text. 


Multiple Choice Question:
7. What is one of the central ideas in this reading selection?

A. People do not like skunks.

B. Skunks make good pets for people.

C. People should hide when a skunk sprays.

Commentary:
This multiple choice question asks students to identify one of the central or main ideas of the reading selection. Answer choice A is correct. This is clearly stated in the second paragraph of the passage. Answer choice B is incorrect. The writer indicates they are beautiful animals, but can spray a smelly liquid called musk which would make them inappropriate pets. Answer choice C is incorrect. There is no indication in the passage of what a person should do if sprayed.

Performance Data:
The percent of public school students selecting answer choice A for question 7 on the March 2006 Ohio Grade 3 Reading Achievement Test was 86%.

Keywords:  Central Idea

BACK TO INDEX
	Benchmark:     C
	Apply structural analysis skills to build and extend vocabulary and to determine word meaning.

	GLI:                 AV 3.7
	Apply knowledge of prefixes, including un-, re-, pre- and suffixes, including -er, -est, -ful and -less to determine meaning of words.


Multiple Choice Question:
8. The author asks the reading, “Why do people dislike skunks?” When you dislike something, how do you feel about it?

A. You want to be around it a lot.

B. You don’t want to be with it much.

C. You don’t want to be without it.

Commentary:
This multiple choice item asks students to determine how knowing a word part, or prefix, helps define that word. Answer choice A is incorrect. The prefix dis~ indicates negative, or separation from, not connection to. Answer choice B is correct. The prefix dis~ added to the word like indicates not liking, not wanting connection. Answer choice C is incorrect. The prefix dis~ indicates wanted to be separated from, not desiring to be with all the time.

Performance Data:
The percent of public school students selecting answer choice B for question 8 on the March 2006 Ohio Grade 3 Reading Achievement Test was 87%.

Keywords:  prefixes, word parts, meaning

BACK TO INDEX
	Benchmark:     C
	Identify the central ideas and supporting details of informational text.

	GLI:                          IT 3.3
	Identify and list the important central ideas and supporting details of informational text. 


Multiple Choice Question:

9. Using the reading selection, write four details that tell what skunks look like.

A. _________________________________________________________________________

B. _________________________________________________________________________

C. _________________________________________________________________________

D. _________________________________________________________________________

Commentary:
This extended response question asks students to identify a central idea and then list four supporting details. Students are asked to supply four details from the selection that support the description of a skunk.
Scoring Guidelines
	Points
	Student Response

	4
	Response identifies four details. 

Example:  

1. Skunks have five toes on each foot.

2. Skunks have claws.

3. Skunks have short legs.

4. Skunks have black and white fur coats.

	3
	Response identifies three details.

Example: 

1. Skunks have five toes on each foot.

2. Skunks have black and white fur.

3. Skunks have short legs.


	2
	Response identifies two details. 

Example:

1. Skunks have short legs.

2. Skunks have claws.

	1
	Response identifies one detail. 

Example:

     1.  Skunks have five toes on each foot.

	0
	Response is incorrect or irrelevant.


Performance Data: 

The percent of public school students at each score point on the March 2006 Grade 3 Ohio Reading Achievement Test was

	Performance at each Score Point

	4
	3
	2
	1
	0

	46%
	28%
	16%
	7%
	3%


Keyword:  central idea, supporting details

BACK TO INDEX
	Benchmark:     E
	Demonstrate comprehension by responding to questions (e.g., literal, inferential and evaluative).

	GLI:                               RP 3.7
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple Choice Question:
10. Why can’t skunks run fast?

A. Their claws are too long.

B. Their legs are too short.

C. They can’t see well.

Commentary:
This multiple choice item asks students to answer a literal question based on information in the text. Answer choice A is incorrect. The second paragraph in the second section tells the reader that skunks legs are short. Answer choice B is correct. The second paragraph under Sharp Claws, Short Legs tells the reader skunks cannot run fast because of their short legs. Answer choice C is incorrect. The skunks’ vision does not impact their ability to run.

Performance Data: 

The percent of public school students selecting answer choice B for question 10 on the March 2006 Grade 3 Reading Achievement Test was 88%.

Keywords:  Comprehension, Literal questions
BACK TO INDEX
	Benchmark:     E
	Demonstrate comprehension by responding to questions (e.g., literal, inferential and evaluative).

	GLI:                               RP 3.7
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple Choice Question:
11. How does a skunk protect itself?

A. It sprays its musk.

B. It runs quickly away.

C. It makes howling noises.

Commentary:
This multiple choice question asks students to answer a literal question. To answer literal questions students must be able to find the information directly stated in the text. Answer choice A is correct. The third paragraph of the passage refers to the skunk’s odor as a powerful weapon. Answer choice B is incorrect. The writer of the passage indicates that skunks are unable to run fast. Answer choice C is incorrect. Skunks are able to squeak, hiss, screech coo, and snuff not howl.

Performance Data:
The percent of public school students selecting answer choice A for question 11 on the March 2006 Grade 3 Reading Achievement Test was 96%.

Keywords:  Comprehension, Literal Questions
BACK TO INDEX
	Benchmark:     E
	Demonstrate comprehension by responding to questions (e.g., literal, inferential and evaluative).

	GLI:                               RP 3.7
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple Choice Question:
12. Which sentence is true about skunks?

A. Skunks eat farm animals.

B. Skunks eat grubs and worms.

C. Skunks eat during the day.

Commentary:
This multiple choice question asks students to answer a question using information directly stated in the text. Answer choice A is incorrect. Skunks do not eat farm animals. Answer choice B is correct. The third paragraph of the section titled Seeing, Smelling and Hearing says that skunks dig for worms and grubs under the ground. Answer choice C is incorrect. Skunks are nocturnal animals. 

Performance Data:
The percent of public school students selecting answer choice B for question 12 on the March 2006 Grade 3 Reading Achievement Test was 76%.

Keywords:  Literal Questions, Comprehension
BACK TO INDEX
	Benchmark:     E
	Demonstrate comprehension by responding to questions (e.g., literal, informational and evaluative).

	GLI:                               RP 3.7
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Short Answer Question:

13. List two reasons why people would not keep skunks as pets. Use information from the reading selection in your answer.
A. ________________________________________________

B. ________________________________________________

Commentary:
This short answer question asks students to read the selection and draw a conclusion based on the information they have read. 

Scoring Guidelines
	Points
	Student Response

	2
	Response correctly completes both blanks.

Example:

1. Skunks give off musk and smell terrible.

2. Skunks sleep all day. 

	1
	Response correctly completes one blank.

Example:

1. Skunks sleep all day.

	0
	Response is incorrect or irrelevant.


Performance Data: 

The percent of public school students at each score point for question 13 on the March 2006 Ohio Grade 3 Reading Achievement Test was %

	Performance at Each Score Point

	0
	1
	2

	03%
	66%
	30%


Keywords:  draw conclusions, comprehension

BACK TO INDEX
	Benchmark:     A
	Use text features and structures to organize content, draw conclusions and build text knowledge.

	GLI:                           IT  3.1
	Use the table of contents, chapter headings, glossary, index, captions and illustrations to locate information and comprehend texts.


Multiple Choice Question:
14.  In which section would you find information about skunk’s senses?

A. An Unpopular Animal

B. Sharp Claws, Short Legs

C. Seeing, Smelling, and Hearing

Commentary:
This multiple choice question asks students to draw conclusion based on information in the selection. In this case students are to find information about the senses of a skunk and identify the subheading it falls under. Answer choice A is incorrect. This section talks about human senses not skunk senses. Answer choice B is incorrect. This section discusses skunks’ physical characteristics, not its senses. Answer choice C is correct. As the section title indicates, the reader will find information about skunk senses here.

Performance Data:
The percent of public school students selecting answer choice C for question 14 on the March 2006 Ohio Grade 3 Reading Achievement Test was 79%.

Keywords:  Text features, organization

BACK TO INDEX
	Benchmark:     C
	Identify the central ideas and supporting details of informational text.



	GLI:                          IT 3.3
	Identify and list the important central ideas and supporting details of informational text. 


Multiple Choice Question:
15. This paragraph is from the selection.


……”A skunk has five toes on each foot. Each toe on the front feet has a sharp, curved claw, used for digging. The claws on the hind feet are also sharp.”


What is a good sub-heading for this paragraph?

A. How does a skunk use its claws?

B. How does a skunk find food?

C. How does a skunk move?

Commentary:
This multiple choice question asks students to select a question that clarifies information from the selection. Answer choice A is correct. This paragraph details what a skunk uses it claws to do. Answer choice B is incorrect. In this paragraph there is no discussion of the skunk’s search for food.. Answer choice C is incorrect. This paragraph does not indicate the way a skunk walks or moves itself.

Performance Data:
The percent of public school students selecting answer choice A for question 15 on the March 2006 Ohio Grade 3 Reading Achievement Test was 80%.

Keywords:  Clarifying Questions, Essential Elements

BACK TO INDEX
Passage:

Wild Baby Animals
By Richard Vaughan

Whether it’s a baby red squirrel scampering across your backyard, or a lion in Africa, all animal babies grow, play, and learn to survive.

Elephant
A 300 pound baby? That’s right, a newborn elephant can weigh as much as a refrigerator. An elephant baby this big is still small next to its parents, who can weigh four to six tons!


A baby elephant drinks its mother’s milk for two years, while it learns to feed itself on grass and leaves. When the baby grows up, it can eat more than 500 pounds of food every day.


A baby elephant uses its trunk like a hand to pick up food. The elephant also cleans itself with its trunk, using it like a hose to have a shower. 

Giraffe

A newborn giraffe is the world’s tallest baby. When it gets up on its long legs for the first time, it stands six feet tall. This is taller than most adult humans.

Within three days, a baby giraffe is able to run beside its mother. All of the giraffes in the herd take turns watching the young giraffes. 

A baby giraffe uses it long neck to reach leaves and fruit at the top of tall trees. Its long neck also helps it to eat grass and bushes on the ground. A young giraffe can grow up to fifteen feet tall and can see for miles. 

Grizzly Bear

A mother grizzly bear may weigh over 500 pounds and stand eight feet tall. She may have two or three babies, called cubs. Newborn grizzly cubs weigh less than one pound and have no teeth or fur. The cubs stay safe inside their den and feed on their mother’s milk.

When they are about three months old, the cubs start to explore the world around them. Their mother teaches them which leaves and roots are good to eat. She also teaches them how to swim and hunt. When they are two or three years old, the grizzly cubs will leave their mother and go out on their own. 

Hippo

Baby hippos can be born on land or underwater. Newborn hippo babies are so well developed that within a few hours they can run, swim, and dive.


During the day, baby hippos and their mothers snuggle together in shallow water or take naps along the riverbank. At night, the baby hippo follows the mother into the surrounding fields to feed on grass. The baby hippo will drink its mother’s milk until it is a year old. A baby hippo will grow up to be ten feet long and weigh up to 3,000 pounds. 

BACK TO INDEX
	Benchmark:     E
	Demonstrate comprehension by responding to questions (e.g., literal, informational and evaluative).

	GLI:                               RP 3.7
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple Choice Question:

7. How much can a newborn elephant weigh? 

A. 500 pounds 

B. 300 pounds 

C. 600 pounds 

Commentary:
In this question, students need to answer a literal question (one that asks about information that is stated directly in the text) about a newborn elephant. Using reading comprehension skills to answer different types of questions, including literal, inferential and evaluative, is an expectation for 3rd grade students based on Ohio’s Academic Content Standards in English Language Arts. Answer choice A is incorrect. The answer is directly stated in the subheading of a section that is titled Elephant: A 300 pound baby? Answer choice B is correct. The author writes in the second paragraph, “A 300 pound baby? That’s right. A newborn elephant can weigh as much as a refrigerator.” Answer choice C is incorrect. Because the information is stated directly in the text, 500 lbs is inaccurate.

Performance Data:

The percent of public school students selecting answer choice B for question 7 on the October 2006 Grade 3 Reading Achievement was 91.49%.

Keywords:  literal question, comprehension
BACK TO INDEX
	Benchmark:     E
	Demonstrate comprehension by responding to questions (e.g., literal, informational and evaluative).

	GLI:                               RP 3.7
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple Choice Question:

8. Which sentence below correctly compares the height of a baby giraffe with the height of most grown-up humans? 

A. Baby giraffes are shorter than most grown-up humans. 

B. Baby giraffes are taller than most grown-up humans. 

C. Baby giraffes are the same height as most grown-up humans. 

Commentary:
In this question, students need to make an inference, or draw a conclusion, based on information in a selection. Using reading comprehension skills to make inferences based on information in a selection is an expectation for 3rd grade students based on Ohio’s Academic Content Standards in English Language Arts. Answer choice A is incorrect. The author states in the first paragraph of the section titled Giraffes that baby giraffes are the tallest animal babies, standing at about six feet tall, which is taller than most adult humans.  Answer choice B is correct. The author writes, “A newborn giraffe stands six feet tall. This is taller than most adult humans.” Answer choice C is incorrect. The author writes in the first paragraph of the section titled “Giraffes” that the baby giraffe, standing at around six feet tall, is in fact taller than most adult human beings.

Performance Data:

The percent of public school students selecting answer choice B for question 8 on the October 2006 Grade 3 Reading Achievement was 80.83%.

Keywords:  drawing conclusions
BACK TO INDEX
	Benchmark:     B
	Ask clarifying questions concerning essential elements of informational text.

	GLI:                                          IT 3.2
	List questions about essential elements (e.g., why, who, where, what, when and how) from informational text and identify answers. 


Multiple Choice Question:

9. These are sentences from the selection. 

A baby giraffe uses its long neck to reach leaves and fruit at the top of tall trees. Its long neck also helps it to eat grass and bushes on the ground. 

Which question do these sentences answer? 

A. How does a giraffe eat? 

B. How long is a giraffe’s neck?

C. How tall is a baby giraffe? 

Commentary:
In this question, students need to select the correct question about the text in a specific reading selection. Using reading comprehension skills to list questions about essential elements (important parts) in a text and find answers is an expectation for 3rd grade students based on Ohio’s Academic Content Standards in English Language Arts. Answer choice A is correct. In these sentences, the author describes how giraffes use their long necks to get food from tall trees and from bushes on the ground. The main idea is how giraffes reach their food. Answer choice B is incorrect. These sentences are about how giraffes eat, not how they look. Answer choice C is incorrect. The author does not give any specific information in these sentences about how tall giraffes are.

Performance Data:

The percent of public school students selecting answer choice A for question 9 on the October 2006 Grade 3 Reading Achievement was 59.52%.

Keywords:  Clarifying questions
BACK TO INDEX
	Benchmark:     E
	Demonstrate comprehension by responding to questions (e.g., literal, informational and evaluative).

	GLI:                               RP 3.7
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Short Answer Question:

10. Use information from the reading selection to complete the chart.
	
	Baby Elephants
	Grizzly Bear Cubs

	Weight
	300 pounds
	________________________________

	Foods
	_______________________________
	leaves and roots


Commentary:
In this question, students need to answer a literal question (a question based on information that is stated directly) to show that they understand facts from the reading selection about camels. Using reading comprehension skills to answer different kinds of questions (literal, inferential and evaluative) based on a reading selection is an expectation for 3rd grade students based on Ohio’s Academic Content Standards in English Language Arts.

Scoring Guidelines
	Exemplar Response:



	

	Score Point
	Student Responses

	2 point
	Response correctly completes both blanks.

Example:

Baby Elephants

Grizzly Bear Cubs

Weight

300 pounds

less than 1 pound
Foods

mother’s milk, grass or leaves

leaves and roots



	1 point
	Response correctly completes one blank.


Example: 
Baby Elephants

Grizzly Bear Cubs

Weight

300 pounds


Foods

mother’s milk, grass or leaves



leaves and roots



	0 point
	Response is incorrect or irrelevant.


Performance Data:
The percent of public school students earning each score point for question 10 on the October 2006 Grade 3 Reading Achievement:

	Percent at Each Score Point

	0
	
	1
	
	2

	24.13%
	
	46.05%
	
	28.89%


Keywords:  literal questions

BACK TO INDEX
	Benchmark:     A
	Use text features and structures to organize content, draw conclusions and 

build text knowledge.

	GLI:                           IT  3.1
	Use the table of contents, chapter headings, glossary, index, captions and illustrations to locate information and comprehend texts.


Multiple Choice Question

11. Under which section of the reading selection can you learn about a baby animal that likes to take naps along the riverbank?

A. Grizzly Bear

B. Elephant

C. Hippo

Commentary:
In this question, students need to use subheadings to find information. Using text features such as headings and subheadings to find information is an expectation for 3rd grade students based on Ohio’s Academic Content Standards in English Language Arts. Answer choice A is incorrect. Newborn grizzlies stay safe inside their den, but the author does not write that grizzly babies like to take naps along the riverbank. Answer choice B is incorrect. The author does not say anything about where elephant babies like to sleep. Answer choice C is correct. In the last paragraph, the author writes, “During the day, baby hippos and their mothers snuggle together in shallow water or take naps along the riverbank.”  

Performance Data:

The percent of public school students selecting answer choice C for question 11 on the October 2006 Grade 3 Reading Achievement was 82.54%.

Keywords:  subheadings, text features

BACK TO INDEX
	Benchmark:     C
	Identify the central ideas and supporting details of informational text.

	GLI:                          IT 3.3
	Identify and list the important central ideas and supporting details of informational text. 


Extended Response Question
12. Use information from the selection to compare elephants and giraffes. What special body part does each animal have that makes it different? How does the animal use this body part to help it?






Body Part


How it Helps

Elephant


​​​​​​​​​​​​​​​​​______________

______________










______________

Giraffe


______________

______________










______________
Commentary:
In this question, students need to determine what detail supports a main idea from the selection. Using reading comprehension skills to understand and state supporting details for a main idea is an expectation for 3rd grade students based on Ohio’s Academic Content Standards in English Language Arts.

Scoring Guidelines
	Exemplar Response:



	Other Correct Response(s):



	Score Point
	Student Response

	4 point
	Response correctly identifies the body part and function for both animals. 


Example:

Trunk; helps it eat
Long neck; helps it reach the leaves in the trees

	3 point
	Response correctly identifies the body part and its function for one animal and the body part of the other animal. 


Example:

Trunk; helps clean the elephant
Long neck

	2 point
	Response correctly identifies the body part of each animal OR the body part and its function of one animal. 
Example:

Trunk
Long neck

	1 point
	Response correctly identifies the body part of one animal. 
Example:

Trunk

	0 point
	Response is incorrect or irrelevant.


Performance Data:
The percent of public school students earning each score point for question 12 on the October 2006 Grade 3 Reading Achievement:

	Percent at Each Score Point

	0
	
	1
	
	2
	
	3
	
	4

	9.87%
	
	2.75%
	
	12.75%
	
	13.83%
	
	59.40%


Keywords:  main idea, supporting details

BACK TO INDEX
	Benchmark:     C
	Identify the central ideas and supporting details of informational text.

	GLI:                          IT 3.3
	Identify and list the important central ideas and supporting details of informational text. 


Multiple Choice Question:

13. This is a paragraph from the selection. 

“During the day, baby hippos and their mothers snuggle together in shallow water or take naps along the riverbank. At night, the baby hippo follows the mother into the surrounding fields to feed on grass. The baby hippo will drink its mother’s milk until it is a year old.”

What is the main idea of this paragraph? 

A. where mother and baby hippos sleep 

B. how a baby hippo spends its first year 

C. how much a newborn hippo can weigh 

Commentary:
In this question, students need to determine (or figure out) what details support a main idea from the selection. Using details identifying central ideas and supporting details is an expectation for 3rd grade students based on Ohio’s Academic Content Standards in English Language Arts. Answer choice A is incorrect. The location where hippos sleep is the main idea of the whole paragraph. This information is mentioned only in the first sentence. Answer choice B is correct. In these sentences, the author describes how baby hippos snuggle with mothers, take naps and drink breast milk in their first year. Answer choice C is incorrect. These sentences do not mention how much a baby hippo can weigh. 

Performance Data:

The percent of public school students selecting answer choice B for question 13 on the October 2006 Grade 3 Reading Achievement was 61.06%.

Keywords:  main idea, supporting details

BACK TO INDEX
	Benchmark:     D
	Know the meaning of specialized vocabulary by applying knowledge of word parts, relationships and meanings.

	GLI:                AV 3.3
	Apply the meaning of the terms synonyms and antonyms.


Multiple Choice Question:

14. This is a sentence from the selection. 

During the day, baby hippos and their mothers snuggle together in shallow water or take naps along the riverbank. 

What word means the opposite of shallow? 

A. fast 

B. cold 

C. deep 

Commentary:
To answer this question, students need to understand what common words (such as shallow) and their opposites mean. Understanding and using antonyms is an expectation for 3rd grade students based on Ohio’s Academic Content Standards in English Language Arts. Answer choice A is incorrect. The word shallow refers to depth and not to the speed of the water. Answer choice B is incorrect. The word shallow is not talking about the temperature of the water. Answer choice C is correct. The word shallow is referring to the depth, or lack of, in the water. Deep is an antonym for shallow.

Performance Data:

The percent of public school students selecting answer choice C for question 14 on the October 2006 Grade 3 Reading Achievement was 80.29%.

Keywords:  antonyms, word relationships

BACK TO INDEX
	Benchmark:     C
	Identify the central ideas and supporting details of informational text.

	GLI:                          IT 3.3
	Identify and list the important central ideas and supporting details of informational text. 


Multiple Choice Question:

15. What is a central idea of this selection?

A. Baby animals all grow, play and learn to survive. 

B. Some baby animals are larger than adult humans. 

C. Baby bears, giraffes, and elephants eat leaves. 

Commentary:
In this question, students need to determine (or figure out) the central or main idea of a reading selection. Using reading comprehension skills to determine which details support, or show and develop, main ideas in a reading selection is an expectation for 3rd grade students based on Ohio’s Academic Content Standards in English Language Arts. Answer choice A is correct. The central or main idea of this selection about baby wild animals is that all of the animals described develop and learn to survive in their own ways. Answer choice B is incorrect. This is a supporting detail that describes baby elephants and baby giraffes and has to do with all of the animals talked about in the selection. Answer choice C is incorrect. This is just one detail about bears, giraffes, and elephants that is mentioned in the text. It is not a central or main idea. 

Performance Data:

The percent of public school students selecting answer choice A for question 15 on the October 2006 Grade 3 Reading Achievement was 72.12%.

Keywords:  main idea, supporting details

BACK TO INDEX
Passage:

Ships of the Desert

Some people think that camels never need water, but this is not true. Camels live in the desert. It is very dry and very hot in the desert. Water is hard to find in the desert, but camels can live 20 days without water. When they get thirsty, camels need to find water to drink.

A camel can drink a lot of water at one time. It stores the water in its stomach. This way, it will have some water later if it needs it. A camel also stores fat in its humps. The fat is used for food on long trips. Stored food and water are helpful in the desert where food and water are hard to find. A camel can’t stop for a hamburger and a milkshake!

Camels might look odd to some people, but they are a lot like some other animals we know. Camels' coats give their owners wool, like the wool from sheep, to make clothes. Their milk makes butter and cheese. They taste as good as the butter and cheese we eat from cows’ milk. Some camels carry people and supplies just like horses.

Camels have soft feet that spread out when they walk. This keeps them from sinking in the deep sand. They roam across the rolling waves of sand just like a ship on the water. This is why camels are sometimes called Ships of the Desert.
BACK TO INDEX
	Benchmark:     C
	Identify the central ideas and supporting details of informational text.

	GLI:                          IT 3.3
	Identify and list the important central ideas and supporting details of informational text. 


Multiple Choice Question:
37. Why did the author name this reading selection “Ships of the Desert”? 
A. Camels’ feet spread out when they walk. 

B. Camels ride on waves in the ocean. 

C. Camels roam across the sand. 

Commentary:
In this question, students need to figure out how the title of a reading selection is connected to the main ideas of the story. Using text features like tables of contents, titles and chapter headings is an expectation for 3rd grade students based on Ohio’s Academic Content Standards in English Language Arts. Answer choice A is incorrect. The author does talk about how camels’ feet help move them across the desert, but this is not the reason the selection has the title “Ships of the Desert”. Answer choice B is incorrect. “Ships of the Desert” is a figurative title, which means it does not really mean that camels are actually ships but are like ships (they are big; they walk across the desert) and are able to travel long distances across the desert. The author writes about this in the last two sentences of the selection. Answer choice C is correct. The author writes that camels, “roam across the rolling waves of sand just like a ship on the water.” These sentences, which describe the main idea of the selection, tell why the author chose this title. 

Performance Data:

The percent of public school students selecting answer choice C for question 37 on the October 2006 Grade 3 Reading Achievement was 68.04%.

Keywords:  central ideas, supporting details

BACK TO INDEX
	Benchmark:     C
	Identify the central ideas and supporting details of informational text.

	GLI:                          IT 3.3
	Identify and list the important central ideas and supporting details of informational text. 


Multiple Choice Question:

38. Which is a central idea from the reading selection? 

A. how camels can live 20 days without water 

B. how camels survive in the hot, dry desert

C. how camels’ milk is made into butter and cheese 

Commentary:
In this question, students need to determine the main or central idea of a reading selection. Using details that support, or show and develop, main ideas in reading selections is an expectation for 3rd grade students based on Ohio’s Academic Content Standards in English Language Arts. Answer choice A is incorrect. This is a supporting detail about how camels survive and not a main idea. Answer choice B is correct. In the selection, the author talks about 
different ways in which camels have adapted to (or gotten used to) living in the extreme conditions of the desert. Answer choice C is incorrect. This piece of information is a detail that supports a bigger idea: how products from camels can help the economy.

Performance Data:

The percent of public school students selecting answer choice B for question 38 on the October 2006 Grade 3 Reading Achievement was 52.83%.

Keywords:  main idea, central idea, supporting details

BACK TO INDEX
	Benchmark:     E
	Demonstrate comprehension by responding to questions (e.g., literal, inferential and evaluative).

	GLI:                               RP 3.7
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple Choice Question:

39. Why might some people think that camels never need water?
A. Camels drink only a little bit of water at a time.

B. Camels can live for many days without drinking water.

C. Camels do not need to drink even when they are thirsty.

Commentary:
This question asks students to demonstrate their comprehension of the “Ships in the Desert” selection by answering an inferential question. An inferential question can be answered by drawing a conclusion based on information that has been read. Students at the 3rd grade level are expected to demonstrate comprehension by responding to a variety of questions. Answer choice A is incorrect. There is no mention in the selection that indicates how much water a camel drinks at one time. Answer choice B is correct. Because camels are able to store water, students can infer that they can use their stored water without stopping to take a drink. Answer choice C is incorrect. All animals (mammals) need water to stay hydrated. Camels must continue to drink water to keep their water storage supply full.

Performance Data:

The percent of public school students selecting answer choice B for question 39 on the October 2006 Grade 3 Reading Achievement was 71.73%.

Keywords:  questions, inference

BACK TO INDEX
	Benchmark:     A
	Use context clues to determine the meaning of new vocabulary.

	GLI: 
AV 3.1              AV 3.2
	Determine the meaning of unknown words using a variety of context clues including word, sentence and paragraph clues.

Use context clues to determine the meaning of homophones, homonyms and homographs. 


Multiple Choice Question

40. This sentence is from the reading selection.


It stores the water in its stomach.


In the sentence, what does stores mean? 
A. saves 

B. shops 

C. drinks 

Commentary:
In this question, students need to use context clues (words or phrases around an unknown word that help determine what the word means) to understand the meaning of the word stores. Using context clues to determine word meaning is an expectation for 3rd grade students based on Ohio’s Academic Content Standards in English Language Arts. Answer choice A is correct. The word stores means keeps for future use or saves. The context provides the reader with this information, “A camel can drink a lot of water at one time” and “This way, it will have some water later if it needs it.” Answer choice B is incorrect. The answer choice refers to the noun form of the word stores, which means shops or places of business. In this sentence, the author uses the verb form of stores, which means puts away for future use. Answer choice C is incorrect. The word stores refers to the way a camel keeps water, while the word drinks refers to how the water gets to the “storage” place.

Performance Data:

The percent of public school students selecting answer choice A for question 40 on the October 2006 Grade 3 Reading Achievement was 68.33%.

Keywords:  synonym, word relationships
BACK TO INDEX
	Benchmark:     E
	Demonstrate comprehension by responding to questions (e.g., literal, inferential and evaluative).

	GLI:                               RP 3.7
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Extended Response Question:

41. Using the reading selection, complete the comparison chart by comparing two animals with a camel. List two animals that camels are compared with in this selection and explain how these animals are like camels.

Comparison Chart

	Animal
	How They are Like Camels

	1. 


	

	2.



	


Commentary:
This question asks students to make a comparison between two of the animals mentioned in the selection and camels. Students at the 3rd grade level are expected to be able to answer literal, inferential and evaluative questions to demonstrate comprehension according to the Grade 3 Ohio Academic Content Standards in English Language Arts.

Scoring Guidelines:
	Exemplar Response:



	Other Correct Response(s):


	Points
	Student Response

	4 point
	Response correctly identifies two animals and how they are like camels. 

Example: 

Animal

How They are Like Giraffes

1. sheep

The coat of a sheep gives the owners wool.

2.  cows

The cow’s milk can be used to give butter and cheese.



	3 point
	Response correctly identifies two animals and why one of them is like a camel. 

Example: 

Animal

How They are Like Giraffes

1. sheep

The coat of a sheep gives the owners wool.

2.  horses



	2 point
	Response correctly identifies two animals OR response correctly identifies one animal and how it is like a camel. 

Example: 

Animal

How They are Like Giraffes

1. sheep

2.  horses



	1 point
	Response correctly identifies one animal. 

Example: 

Animal

How They are Like Giraffes

1. sheep

2.  



	0 point
	Response is incorrect or irrelevant. 


Performance Data:

The percent of public school students earning each score point for question 41 on the October 2006 Grade 3 Reading Achievement:

	Percent at Each Score Point

	0
	
	1
	
	2
	
	3
	
	4

	42.58%
	
	9.22%
	
	14.98%
	
	8.41%
	
	22.78%


Keywords:  inference, questions

BACK TO INDEX
	Benchmark:     E
	Demonstrate comprehension by responding to questions (e.g., literal, inferential and evaluative).

	GLI:                               RP 3.7
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple Choice Question:

42. Why can camels live in the desert?

A. Camels never need water.

B. Camels store food and water in their bodies.

C. Camels’ thick fur protects them from the sun and heat.

Commentary:
This question asks students to answer a question that has an answer directly stated in the text. Students at the 3rd grade students are expected to answer a variety of questions to demonstrate comprehension. Answer choice A is incorrect. Camels store water and can appear to drink less water; however, they do need water to survive. Answer choice B is correct. Camels use the fat and water that they store in their bodies when the food and water supply of the desert is in short supply. Answer choice C is incorrect. Camels do have fur, but this fur does not help them survive in the desert climate.

Performance Data:

The percent of public school students selecting answer choice B for question 42 on the October 2006 Grade 3 Reading Achievement was 62.65%.

Keywords:  literal question

BACK TO INDEX
Passage:
[image: image1.emf]
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	Benchmark:     C
	Identify the central ideas and supporting details of informational text.



	GLI:                               IT 3.3
	Identify and list the important central ideas and supporting details of informational text. 


[image: image4.emf]
BACK TO INDEX
	Benchmark:     C
	Identify the central ideas and supporting details of informational text.



	GLI:                               IT 3.3
	Identify and list the important central ideas and supporting details of informational text. 


[image: image5.emf]
BACK TO INDEX
	Benchmark: 
A    
	Use context clues to determine the meaning of new vocabulary.

	GLI:                                 AV 3.1,           AV 3.9
	AV 3.1:   Determine the meaning of unknown words using a variety of context clues, including word, sentence and paragraph clues.
AV 3.9:   Determine the meanings and pronunciations of unknown words by using dictionaries, glossaries, technology and textual features, such as definitional footnotes or sidebars.


[image: image6.emf]
BACK TO INDEX
	Benchmark: 
IT-C

RP-E    
	Identify the central ideas and supporting details of informational text.

Demonstrate comprehension by responding to questions (e.g., literal, informational and evaluative).

	GLI:                               IT 3.3,           RP 3.7
	IT 3.3:    Identify and list the important central ideas and supporting details of informational text. 
RP 3.7:   Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.
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BACK TO INDEX
	Benchmark:     B
	Ask clarifying questions concerning essential elements of informational text.

	GLI:                               IT 3.2
	List questions about essential elements (e.g., why, who, where, what, when and how) from informational text and identify answers. 


[image: image9.emf]
BACK TO INDEX
	Benchmark: 
A & C    
	Use context clues to determine the meaning of new vocabulary.
Apply structural analysis skills to build And extend vocabulary and to determine word meaning.



	GLI:                                 AV 3.1,           AV 3.7
	AV 3.1:   Determine the meaning of unknown words using a variety of context clues, including word, sentence and paragraph clues.
AV 3.7:   Apply knowledge of prefixes, including un-, re-, pre- and suffixes, including -er, -est, -ful and -less to determine meaning of words.
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BACK TO INDEX
	Benchmark:
D & E     
	Apply reading skills and strategies to summarize and compare and contrast information in text, between text and across subject areas.
Demonstrate comprehension by responding to questions (e.g., literal, informational and evaluative).

	GLI:                                 RP 3.4,                RP 3.7
	RP 3.4:     Summarize texts, sequencing information accurately and include main ideas and details as appropriate.
RP 3.7:     Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.
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BACK TO INDEX
	Benchmark:     E
	Demonstrate comprehension by responding to questions (e.g., literal, informational and evaluative).

	GLI:                                              RP 3.7
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.
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BACK TO INDEX
	Benchmark:
C     
	Draw conclusions from information in the text.

	GLI:                                              RP 3.5
	Make inferences regarding events and possible outcomes from information in text.
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BACK TO INDEX
	Benchmark:     C
	Identify the central ideas and supporting details of informational text.



	GLI:                               IT 3.3
	Identify and list the important central ideas and supporting details of informational text. 


[image: image16.emf]
BACK TO INDEX
Passage:

The Smallest Life Around Us

By Lucia Anderson

Tiny plants and animals live all around us. We cannot see them because they are so small, but they are everyplace.

They live in the soil, the air, and in rivers and oceans. They grow on the highest mountains and in the deepest caves. Some live in the ice at the north and south poles; some live where it is very hot. They are found throughout cities and in the country. They grow on other plants and animals. Some are even living on you, on your skin, hair, and inside your body, in your mouth, nose, and all through your intestines.

These tiny plants and animals are called microbes. The word microbe is made from two other words: micro, meaning small, and bios, meaning life. So, microbe means small life.

Microbes have been on earth for a very long time. They may have been the first forms of life to exist. Today there are more microbes in the world than all other living things.

For thousands of years people did not know microbes existed. They were too small for them to see.

But people did see many changes in their world—important changes. And they did not know what caused them. They saw food that they kept too long change color and begin to smell bad. They saw cuts and wounds grow red and sore and become infected. They saw old plants and leaves and trees crumble apart on the forest floor and disappear into the soil. Such changes were a natural part of the world, but people did not understand them. They did not know these changes were evidence of tiny plants and animals growing all around them. 

BACK TO INDEX
	Benchmark:                    B   
	Use supporting details to identify and describe main ideas, characters, and setting.

	GLI:                               IT 3.2
	List questions about essential elements (e.g., why, who, where, what, when and how) from informational text and identify answers. 


Multiple Choice Question:

37. This is a paragraph from the selection.
“For thousands of years people did not know microbes existed. They were too small for them to see.”

Which question does this paragraph answer?
A. Why couldn’t people see microbes?

B. Why did people want to see microbes?

C. Why are microbes so small?

Commentary:

This multiple choice question asks students to use details from the paragraph to answer the question. The student is required to draw upon the details of the information in the paragraph to identify examples of cause and effect used in informational text. A is correct; the paragraph supports that while microbes existed for a very long time they were too small to see. If a student chooses B, he or she has not correctly analyzed the information from the selection, which does not support that people were curious to see microbes. C is incorrect; the selection does not address what makes microbes small. 

Performance Data: 

The percent of public schools students selecting answer choice (A) for question 37 on the May 2008 Grade 3 Reading Achievement Test was 65%.

Keyword:  Informational text, supporting details

BACK TO INDEX
	Benchmark:     A
	Use context clues to determine the meaning of new vocabulary.

	GLI:                  AV 3.1
	Determine the meaning of unknown words using a variety of context clues, including word, sentence and paragraph clues.


Multiple Choice Question:

38. This is a sentence from the selection.
“They saw old plants and leaves and trees crumble apart on the forest floor and disappear into the soil.”

What does crumble apart mean?
A. break into tiny pieces
B. change into seeds
C. grow new roots
Commentary:

This multiple choice question asks students to define word meaning from the selection. Students that select the correct answer are able to define the meaning of unknown words by using context clues to arrive at that response. A is correct. The disappearance of the plants, leaves and trees by decomposition is defined by the words “break into tiny pieces.” Answer B is incorrect. The old plants and leaves and trees are decomposing thus crumbling apart, not transforming into new growth. Answer choice C is incorrect. The selection does not talk about new growth or new root growth; the correct answer indicates the opposite of that action. 

Performance Data: 

The percent of public schools students selecting answer choice (A) for question 38 on the May 2008 Grade Three Reading Achievement Test was 90%.

Keyword:  vocabulary, word meaning and context clues

BACK TO INDEX
	Benchmark:                        A  & E
	Establish a purpose for reading and use a range of reading comprehension strategies to understand literary passages and text.
Demonstrate comprehension by responding to questions (e.g., literal, informational and evaluative).

	GLI:                                 RP 3.6,                RP 3.7
	RP 3.6:     Create and use graphic organizers, such as Venn diagrams and webs, to demonstrate comprehension.
RP 3.7:     Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple Choice Question:

39. Choose the answer that completes the web below.
A. Microbes are very small.

B. Food begins to smell bad.

C. Microbes are all around us.

[image: image17.emf]
Commentary:

This multiple choice question asks students to use the graphic organizers, such as Venn diagrams and webs, to interpret and comprehend textual information. A is not the correct choice. That microbes are small is not evidence to why they exist.  B is correct. The selection states that people did see changes and lists that food changed color and began to smell bad. C is incorrect. While the statement is true as a text based response it can not be seen as evidence that microbes existed. 

Performance Data: 

The percent of public schools students selecting answer choice B for question 39 on the May 2008  Grade Three  Reading Achievement Test was 54%.

Keyword:  reading comprehension strategies, purpose for reading
BACK TO INDEX
	Benchmark:                        E 
	Demonstrate comprehension by responding to questions (e.g. literal, inferential and evaluative)

	GLI:                                              RP 3.7
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple Choice Question:

40. What does the word microbe mean?
A. small life

B. long life

C. plant life

Commentary:

This multiple choice question asks students to apply their comprehension knowledge of the selection through literal questioning. A is the correct choice. The word parts micro -meaning small, and bios- meaning life is a “small life”. If a student chooses B, he or she has determined the incorrect word meaning. In the word “long” life, long describes elongating or lengthening a life, this is not the correct meaning of the root “micro”. C is not the correct response. "Plant” is a singular noun that does not describe the meaning of micro as used within the selection as an adjective. 

Performance Data: 

The percent of public schools students selecting answer choice (A) for question 40 on the May 2008 Grade 3 Reading Achievement Test was 79%.

Keyword:  reading process, comprehension, word meaning

BACK TO INDEX
	Benchmark:                        A & C 
	Establish a purpose for reading and use a range of reading comprehension strategies to understand literary passages and text.

Draw conclusions from information in text.

	GLI:                                 RP 3.4,                RP 3.6
	RP 3.4:     Summarize texts, sequencing information accurately and include main ideas and details as appropriate. 

RP 3.6:     Create and use graphic organizers, such as Venn diagrams and webs, to demonstrate comprehension.


Extended Response Question: 

41. Using the reading selection, complete the web with four important details about microbes.
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Commentary:

This constructed response question asks students to summarize texts, sequencing information accurately and including main ideas and details as appropriate.

Scoring Guidelines:

	Points
	Student Response

	4 point text
	Response identifies four details. 
Example:  

1. Microbes live in the air. 

2. Microbes have been on the earth for a very long time.

3. Microbes are very tiny. 

Microbes cause many changes.   

	3 point text
	Response identifies three details.
Example:   

1. Microbes make food change color and smell bad.

2. Microbes live everywhere.

3. Microbes are tiny plants and animals.

3 point sample answer:

	2 point text
	Response identifies two details. 
Example:  

1. Microbes are tiny plants and animals. 

2. Microbes are everywhere. 

2 point sample answer:

	1 point text
	Response identifies one detail. 
Example:

Microbes are very small.

1 point sample answer:

	0
	Response is incorrect or irrelevant. 

0 point sample answer:


Performance Data: 

The percent of public school students at each score point for question 41 on the May 2008 Grade 3 Reading Achievement Test was

	Percent at Each Score Point

	0
	1
	2
	3
	4

	5%
	8%
	18%
	33%
	35%


Keyword:  reading process, draw conclusions

BACK TO INDEX
	Benchmark:     A
	Use text features and structures to organize content, draw conclusions and                        build text knowledge.

	GLI:                        IT 3.1
	Use the table of contents, chapter headings, glossary, index, captions and illustrations to locate information and comprehend texts.


Multiple Choice Question:

42. This is a sentence from the selection.
“They did not know these changes were evidence of tiny plants and animals growing all around them.”

What does the word evidence mean?

A. Proof

B. Questions

C. examples

Commentary:

This multiple choice question asks students to read the selection sentence and draw meaning from the selection to choose the correct answer. A is the correct choice. The word proof, defined as fact or confirmation, helps someone come to a conclusion about something, and is a synonym for the word evidence and so the correct word choice. If a student chooses B, he or she has selected an incorrect word meaning. The word question suggests a problem to explore. C is incorrect. Example as a word choice is representative of something or a copy of something, not the correct meaning as used in the selection.

Performance Data: 

The percent of public schools students selecting answer choice (A) for question 42 on the May 2008 Grade 3 Reading Achievement Test was 77%.

Keyword:  informational text, text structures and conclusions
BACK TO INDEX
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